| Rail system 35__
B MEFA rail system

i

Profile rails STEX 35
Page 2/3

i

STEX 35 GP and GB
Page 2/4

STEX 35-angle
Page 2/5

STEX 35-consoles

STEX 35 accessory
Page 2/6

Page 2/8

Gl ESET [22] 7] ] 250 [se] [22] 2] [s5] st 3o [27] s3] 36

Profile rails 22 - 36

il

Hammer head screws Threaded plate

Protecting caps Profile holder
Page 2/9 Page 2/10 Page 2/11 Page 2/12 Page 2/12
>
= -
C L L
] o ][ ] o
Holder 35 Threaded plate/ hole plate Flat connector Angles Connectors
Page 2/14 Page 2/14 Page 2/15 Page 2/15 Page 2/16

Profile rails 45
Page 2/20

STEX 45 GP and GB
Page 2/22

STEX 45 MP and MTB
Page 2/23

tooth plates / -bolts
Page 2/24

Hammer head screws
Page 2/25

E’

Protecting caps
Page 2/31

Threaded-/ tooth plates
Page 2/25

Perforated plates
Page 2/31

Head adapter
Page 2/31

Universal knot
Page 2/32

2019 Phone +49 7944 64-0 'EE Fax +49 7944 64-37




Rail system 35

02

B MEFA rail system

2/2

Flat connectors Knot triangles Angles Lugs Corner angle
Page 2/33 Page 2/33 Page 2/34 Page 2/35 Page 2/35
(55
r
(3!
I 45 I LS
Angle connector Front Connector 3-hole corresponding Connector 45 Profile holder
Page 2/36 Page 2/36 Page 2/37 Page 2/37 Page 2/38
(]
Head profile Suspending console Holder Rooftop holder Joint connector
Page 2/38 Page 2/39 Page 2/39 Page 2/40 Page 2/41
(] s
o
s o) ] ]
Joint holder Consoles without Carrier console Consoles Brace 45°; Adapter angle
Page 2/43 and with braces Page 2/46 Page 2/47 Page 2/54
Page 2/45
K g
45
[+] 36) st 36 [4o]
Girder connection vertical Girder connection Girder clampings Wedge nut for ceiling
horizontal
Page 2/55 P 2/58 Page 2/58
age Page 2/56 f. age age
NS TDEE MEFR Fax +49 7044 64.37



Rail system 35

Quick-fixing system STEX 35

02

Insert STEX Turn STEX Position STEX Counter STEX with nut

Bl STEX 35 profile rail

7

I

4z

!

STEX profile rail 35/20 STEX profile rail 35/35 STEX profile rail 35/42
Specification: Technical data:
Profile rail type: C-profile Material: steel
Connection system: System STEX 35, system 35 Materialtyp: S 250 GD-Z150-N-A, DIN EN 10346
Hole pattern: round hole @ 8,5 and 10,5 mm Surface: pre-galvanized
long hole 8,5 x 15 mm
Center hole distance: 75 mm
- Straight knurling against slipping of components
- Marking for fit-up aid and to cut rails
application loads see on page 2/13
Description Length Width Height Weight Packing Part-No.
[m] [mm] [mm] [kg/m] [m]

35/20/0,8 2 35 20 0,64 336 1273520
35/20/0,8 3 35 20 0,64 504 1273523
35/35/1,0 2 35 35 1,03 252 1273538
35/35/1,0 3 35 35 1,03 378 1273539
35/42/1,5 2 35 42 1,63 80 12735422
35/42/1,5 6 35 42 1,63 240 12735426

’@‘Technical overview of profile rails see on page 2/58

LRI ME FR Fax 49 7544 64.37



M STEX 35 threaded plate GP

02

Specification:

Technical data:

Profile rail type: STEX Material: steel
Profile rail type: 35 mm Material type:  S235JR
Surface: galvanized
application loads see on page 2/13
Description Weight Packing Part-No.
[kg/pc.] [pcs.]
STEX-threaded plate STEX 35 threaded plate M8 0,039 50 127201001
STEX 35 threaded plate M10 0,039 50 127201101
B STEX 35 threaded bolt GB
Specification: Technical data:
For profile rail type: STEX Material: steel
Profile rail type: 35 mm Material type: S235JR
Surface: galvanized
application loads see on page 2/13
STEX threaded bolt
Description Length Weight Packing Part-No.
L
[mm] [kg/pc.] [pcs.]
STEX 35 threaded bolt M8/50 36 0,061 50 127805001
STEX 35 threaded bolt M8/70 56 0,067 50 127807001
STEX 35 threaded bolt M8/90 76 0,074 50 127809001
STEX 35 threaded bolt M8/110 96 0,080 25 127811001
STEX 35 threaded bolt M8/130 116 0,087 25 127813001
STEX 35 threaded bolt M10/50 34 0,076 50 127005001
STEX 35 threaded bolt M10/70 54 0,086 50 127007001
STEX 35 threaded bolt M10/90 74 0,097 50 127009001
STEX 35 threaded bolt M10/110 94 0,107 25 127011001
STEX 35 threaded bolt M10/130 114 0,117 25 127013001
2/4 Phone +49 7944 64-0 'm Fax +49 7944 64-37



B STEX 35 universal angle

02

L

STEX 35 universal angle-set
Angle with two STEX threaded
plates (threaded plate turnable)

Specification: Technical data:
For profile rail type: STEX Material: steel
Profile rail type: 35 mm Material type: S235JR
Surface: galvanized
Remark: suitable for all STEX-
profile-rails

application loads see on page 2/13

Description Weight Packing Part-No.
(kg/pc.] [pcs]
STEX 35 universal angle 0,216 25 127201801

B Holder 35

Specification: Technical data:

Profile rail type: C-Profile 35,36 and STEX 35 Material: steel

Scope of delivery: completely pre-assembled with Material type:  S235JR
2-hole-threaded plate M10 and Surface: galvanized

hexagon screws M10

* Loads are based on component, not connection

Holder 35 vertical

Description Dimension tightening max. load * Weight Packing Part-No.
base plate torque F,
[Nm] [kN] [kg/pc.] [pcs.]
Holder 35 vertical 100 x 45 x 4,0 mm 25 2,0 0,374 25 080213402
Holder 35 horizontal 100 x 45 x 4,0 mm 25 2,0 0,374 25 080213502

2019 Phone +49 7944 64-0 'IEE o +49 7944 64-37 o



B STEX 35 console

02

STEX console 35/35 STEX console 35/42

Profile opening on bottom side Profile opening on bottom side

Technical data: galvanized Static values only apply to Stex console 35/42:
Material: steel limitation torque M,: 312,72 Nm
Material type profile rail: S235JR Reaction force Fo 3,91 kN
Material type plate: S235JR Reaction force Fax: 3,91 kN
Surface: galvanized Mg, Fuyo Fgyon LF1: upto L =825,0mm
global safety coefficient y: 1,35 LF2: upto L =525,0mm

LF3: upto L =675,0mm

* max. load at elastic limit of o, =160 N/mm? and max. bending of f=L/150

STEX console 35/35 - profile rails 35/35/1 - plate 100 x 45 x 4 mm

Description Length max. load * Weight Packing Part-No.
Loading cond. 1 Loading cond. 2 Loading cond. 3
F1 F2 q0
[mm] [kN] [kN] [KN/m] [ka/pc.] [pcs.]
STEX 35 console 150 2,05 1,02 0,285 0,285 25 1274150
STEX 35 console 225 1,37 0,68 0,362 0,362 25 1274225
STEX 35 console 300 1,02 0,51 0,440 0,440 25 1274300
STEX 35 console 375 0,82 0,41 0,517 0,517 25 1274375
STEX 35 console 450 0,68 0,34 0,594 0,594 20 1274450
STEX 35 console 525 0,59 0,28 0,671 0,671 20 1274525

STEX console 35/42 - profile rails 35/42/1,5 - plate 111 x 40 x 8 mm

STEX 35 console 225 2,78 1,39 0,630 0,630 20 12760225
STEX 35 console 300 2,08 1,04 0,752 0,752 20 12760300
STEX 35 console 450 1,39 0,69 0,997 0,997 15 12760450
STEX 35 console 525 1,19 0,60 1,119 1,119 15 12760525
STEX 35 console 600 1,04 0,49 1,241 1,241 10 12760600
Loading condition 1 Loading condition 2 Loading condition 3
Faz F1 Faz F2 Faz
Fax Fax Fax ©

F,=F1 | M= —— F,=F2 | M ;= F2*L F,,=q0"L M, =

Notice:
all loads refering to static loads

2/6 Phone +49 7944 64-0 'm Fax +49 7944 64-37




B STEX 35 console 35/42 plate horizontal

Rail system 35

Technical data: galvanized
Material:

Material type profile rail:
Material type plate:

Surface:

global safety coefficient y:

steel
S235JR
S235JR
galvanized
1,35

* max. load at elastic limit of o =160 N/mm? and max. bending of f=L/150

02

STEX console 35/42 horizontal
Profile opening on bottom side

Description

STEX 35 console 35/42 horizontal
STEX 35 console 35/42 horizontal

Loading condition 1

b

F1
L/2
L

P

Remark:

all loads refering to static loads

Phone +49 7944 64-0

Length

[mm]

300
450

Loading condition 2

F2
S

max. load * Weight Packing Part-No.
Loading Loading Loading
cond. 1 cond. 2 cond. 3
F1 F2 q0
[kN] [kN] [kN/m] [kg/pc.] [pcs.]
1,46 0,73 4,8 0,765 20 127603001
0,96 0,48 21 1,010 15 127604501

'MEFR)

Loading condition 3

q0

L[ [I[[I]]

L

Fax +49 7944 64-37




Rail system 35

02

B STEX 35 protecting cap

STEX protecting cap 35/20 STEX protecting cap 35/35 STEX protecting cap 35/42
Specification: Technical data:
Profile rail type: STEX 35 Material: plastic PE
Profile rail type: 35 mm Material colour: black
Description Weight Packing Part-No.
[kg/pc.] [pcs.]
STEX 35 protecting cap 35/20 0,003 50 1272017
STEX 35 protecting cap 35/35 0,005 50 1272016
STEX 35 protecting cap 35/42 0,005 50 1272024
M STEX 35 rail rubber
Specification: Technical data:
sound-, soil- and insulation resistance between rail and Material: Rubber TPE
supporting element (e.g. ventilation duct) is guaranteed. = Material colour: black
i Mounting profiles for rapid mounting. Temperature-
Y| Suitable for STEX 35 profile rails and threaded rod resistance: -35°Cupto+100°C
M8 and M10
STEX 35 rail rubber
Description Weight Packing Part-No.
[kg/m]
STEX 35 rail rubber, roll 0,302 20m 1272019
STEX 35 rail rubber, part 50 mm 0,016/pc 50 pcs. 1272020
2/8 Phone +49 7944 64-0 'm Fax +49 7944 64-37



Rail system 35

B Profile rails, pre-galvanized, c-profile rail, perforated

10,5%38,5

02
D
Type 22/16 Type 27/18 Type 35/21 Type 36/40
Specification:
Material: S250GD-Z275-N-A (EN 10346)
Surface: pre-galvanized )¢
(sendzimir galvanized)

RAL-GZ 655-C

Type 22/16

Description Corrosion protection Weight Length Packing  Bulk pack Part-No.
[kg/m] [m] [m] [m]

22/16/2,0 fbv pre-galvanized 0,78 2 20 640 0800013

Type 27/18

27/18/1,25 fbv pre-galvanized 0,60 2 20 1000 1240013

Type 35/21

35/21/2,0 fbv pre-galvanized 1,16 2 12 192 0800022

35/21/2,0 fbv pre-galvanized 1,16 6 36 576 0800026

Type 36/40

36/40/2,0 fbv pre-galvanized 1,82 2 12 80 0800032

36/40/2,0 fbv pre-galvanized 1,82 6 72 240 080003601

o)

technical overview of profile rails see on page 2/58
profile rails in stainless steel V2A or V4A see chapter 13

profile rails with coating on request

o Phone +49 7944 64-0 'IEE o +40 7044 5437



Rail system 35

02

B Hammer head screw 35

Specification:
Mounting method:

Application area:

Hammer head screw

For profile rails 22/16

Description

Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw

For profile rails 27/18

Hammer head screw
Hammer head screw
Hammer head screw

For profile rails 35/21, 36/40, STEX 35/20, STEX 35/35, STEX 35/42

Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw
Hammer head screw

for glide fast connections and

shear hole haunch connections with

MEFA profile rails

should preferably be used for pipe

clamp mounting
application loads see on page 2/13

" not suitable for thread M8/M10
2 not suitable for thread M10/M12

Technical data:

Material: steel
Material type: S235JR
Surface: galvanized

G x GL LxBxH
[mm] [mm]

M8x25" 17x17x5
M8x30 17x17x5
M8x40 17x17x5
M10x40 17x17x5

M8x20" 24x13x4
M8x30  24x13x4
M8x40  24x13x4

M8x30"
M8x40
M8x50
M8x70
M10x30%
M10x40
M10x50
M10x70
M12x35
M12x50
M12x70

35x18x6
35x18x6
35x18x6
35x18x6
35x18x6
35x18x6
35x18x6
35x18x6
35x18x6
35x18x6
35x18x6

Phone +49 7944 64-0

S D
[mm] [mm]
2 25
2 25
2 25
2 20

2 25
2 25
2 25

35
35
35
35
35
35
35
35
37
37
37

WWWWwWwWwwWwwwww

'MEFRA)

Usable
length
NL
[mm]

9,5
14,5
24,5
23,0

6,3
16,3
26,3

12,5
22,5
32,5
52,5
10,5
21,0
31,0
51,0
14,0
29,0
49,0

Construction
length
BL
[mm]

18
23
33
33

15
25
35

22
32
42
62
22
32
42
62
27
42
62

Weight Packing
[kg/pc.] [pcs.]
0,029 100
0,031 100
0,034 100
0,044 100

0,025 100
0,028 100
0,032 100

0,060 50
0,063 50
0,066 50
0,073 50
0,070 50
0,075 50
0,080 50
0,090 50
0,086 50
0,097 50
0,111 50

Fax +49 7944 64-37

Part-No.

0692320
0692328
0692330
0693340

0695289
0695300
0695327

0697044
0697051
0697060
0697075
0697540
0697560
0697570
0697590
0698040
0698050
0698070



Rail system 35

B Threaded plate

Specification: Technical data:

Mounting method: for glide fast connections and Material: steel
shear hole haunch connections with Material type: S235JR
MEFA profile rails in combination Surface: galvanized

with hexagon screws, threaded bolts
or- rods (property class 4.6), washers
and hexagon nuts

for direct mounting of pipe clamps

or bearing support

Application area:

application loads see on page 2/13

Threaded plate

For profile rails 27/18

Description Thread Dimension Weight Packing Part-No.
G LxBxS
[mm] [kg/pc.] [pcs.]
Threaded plate 28 x 15 M8 24x13x4 0,008 100 0750069

For profile rail 35/21, 36/40, Stex 35/20, Stex 35/35, Stex 35/42

Threaded plate 38 x 17 M8 35x18x6 0,024 100 0750077
Threaded plate 38 x 17 M10 35x18x6 0,023 100 0750085
Threaded plate 38 x 17 M12 35x18x6 0,022 100 0750093
M Threaded square plate
Specification: Technical data:
Mounting method: for glide fast connections and Material: steel
shear hole haunch connections with Material type: S235JR
MEFA profile rails in combination Surface: galvanized"
with hexagon screws, threaded pins
or- rods (property class 4.6), washers
and hexagon nuts
Application area: for mounting of connecting parts
and profile rails
application loads see on page 2/13
Threaded square plate " Components for outdoor application also available with Zinc-Nickel-coating
(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
For profile rail 22 mm
Description Dimension Thread Weight Packing Part-No.
LxBxS G
[mm] [kg/pc.] [pes.]
Threaded square plate 17x17 x5 M6 0,01 100 0740012
Threaded square plate 17 x17 x5 M8 0,010 100 0740020
Threaded square plate 17 x17 x5 M10 0,010 100 0740039
For profile rail 27, 35, 36 mm
Threaded square plate 30x22x6 M8 0,030 100 0750808
Threaded square plate 30x22x6 M10 0,029 100 0750810

For profile rail 35, 36 mm (*should not be used for STEX 35/20 and 35/35)

Threaded square plate 35x30x6
Threaded square plate 35x30x6
Threaded square plate 35x30x6
Threaded square plate 35x30x8

Phone +49 7944 64-0

M8 0,048 50 0816112
M10* 0,047 50 081612001
M12* 0,046 50 081613801
M16* 0,058 50 0816146

Fax +49 7944 64-37

'MEFR)



B Protecting cap

Specification: Technical data:
Profile rail type: C-Profile 27/18, 35/21, 36/40 Material: plastic PE
Profile rail type: 27 mm, 35 mm, 36 mm Material colour: black
02
Protecting cap
Description For profile rail Weight Packing Part-No.
[kg/pc.] [pes.]
Protecting cap 27/18 0,005 50 0809032
Protecting cap 35/21 0,006 50 0809012
Protecting cap 36/40 0,009 50 0809045

B Profile holder

Profile holder Profile holder combi
Specification: Technical data:
Profile rail type: C-Profile 22, 27, 35, 36, STEX 35 Material: steel
C-Profile 45 Material type: S235JR

Surface: galvanized"

" Components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!

For profile rail 22

Description Dimension Weight Packing Part-No.
w B hole-@ H S
[mm] [mm] [mm] [mm] [mm] [kg/pc.] [pcs.]
Profile holder 22 23,0 20 10,5 10 2 0,013 100 0809502

For profile rail 27
Profile holder 27 28,0 20 10,5 8 2 0,013 100 0809504

For profile rail 35, 36, 45 mm and STEX 35

Profile holder combi 11 - - 11,0 - - 0,049 100 08095035
Profile holder combi 13 - - 13,0 - - 0,047 100 08162945

2/12 Phone +49 7944 64-0 'm Fax +49 7944 64-37 2019



B Admissible loading capacity

dlobal safety coefficient y = 2

Rail system 35

STEX threaded bolt, threaded plate

Profile rail
pre-galvanized * Fz > Fx 02
F, F, M10 4.6 M8 4.6
[kN] [kN] [Nm] [Nm]
STEX 35/20/0,8 15 0,4
STEX 35/35/1,0 ' 05 12 10
STEX 35/42/1,5 2,5 '
Threaded plate 28 x 15 (24 x 13 x 4)
Profile rail , :
pre-galvanized * F, > F,
F, F, M8 4.6
[kN] [kN] [Nm]
27/18/1,25 1,4 0,5 10
Threaded plate 38 x 17 (35 x 18 x 6)
Profile rail , :
pre-galvanized * F, > F,
F, F, M12 4.6 M10 4.6 M8 4.6
[kN] [kN] [Nm] [Nm] [Nm]
35/21/2,0
36/40/2,0
STEX 35/20/0,8 1,8 0,5 30 25 20
STEX 35/35/1,0
STEX 35/42/1,5
Threaded square plate 17 x 17 (17 x 17 x 5)
Profile rail LiJ '3
pre-galvanized * F, > F,
F, F M12 4.6 M10 4.6 M8 4.6
[kN] [kN] [Nm] [Nm] [Nm]
22/16/2,0 4,5 0,5 20 15 10
Threaded square plate 30 x 22 (30 x 22 x 6)
Profile rail
pre-galvanized * F, > F,
F, F, M12 4.6 M10 4.6 M8 4.6
[kN] [kN] [Nm] [Nm] [Nm]
27/18/1,25 2,7
35/21/2,0 43 0,5 30 25 20
36/40/2,0 '

Phone +49 7944 64-0

'MEFR)

Fax +49 7944 64-37




B Holder 35

Specification: Technical data:

Profile rail type: 35, 36 and Stex 35/20, 35/35, 35/42 Material: steel

Scope of delivery: completely pre-assembled with Material type: S235JR
2-hole-threaded plate M10 and Surface: galvanized

hexagon screws M10

02

* Loads are based on component, not connection

Holder 35 vertical
Description Dimension tightening max. load * Weight Packing Part-No.
base plate torque F,
[Nm] [kN] [ka/pc.] [pcs.]
Holder 35 vertical 100 x 45 x 4,0 mm 25 2,0 0,374 25 080213402
Holder 35 horizontal 100 x 45 x 4,0 mm 25 2,0 0,374 25 080213502

M 2-hole threaded plate

Specification: Technical data:
Profile rail type: 35, 36 and Stex 35/20, 35/35, 35/42 Material: steel
Application area: for mounting of connecting parts Material type: S235JR
and profile rails Surface: galvanized
2-hole threaded plate 35/4
Description Dimension Thread tightening max. load max. load Weight  Packing Part-No.
torque Fy F,
[mm] [Nm] [kN] [kN] [kg/pc.] [pes.]

2-hole threaded plate 65x30x5 M10 25 1,1 5,0 0,072 50 0816092

M 2-hole plate 35/4

Specification: Technical data:
Profile rail type: 35, 36 and Stex 35/20, 35/35, 35/42 Material: steel
Application area: for connections between profile rails Material type: S235JR
and components Surface: galvanized
2-hole plate 35/4
Description Dimension Weight Packing Part-No.
[ka/pc.] [pcs.]
2-hole plate 35/4 60 x 35x 4 0,059 50 0816086

2/14 Phone +49 7944 64-0 'm Fax +49 7944 64-37 2019



B Flat connector 35/4

Rail system 35

2105 —

e
a4
|’32,5 3

-

02

3-hole flat connector 35/4

4-hole flat connector 35/4

Flat connector 35/4 L-shape

Flat connector 35/4 T-shape

Specification:

Technical data:

Profile rail type: 35, 36 and Stex 35/20, 35/35, 35/42 Material: steel
Material type: S235JR
Surface: galvanized
Remark: admissible loads are depending on component.
Description Dimension Weight Packing Part-No.
[mm] [ka/pc.] [pcs.]
3-hole flat connector 35/4 130x35x4 0,138 25 0814457
4-hole flat connector 35/4 174 x 35 x4 0,184 25 0814465
Flat connector 35/4 L-shape 82,5x80x4 0,135 25 0814430
Flat connector 35/4 T-shape 130x 80 x4 0,185 25 0814449
M Angle 35/4
A\ N
-2
'
1Y
NN %
#10,5
2-hole angle 35/4 3-hole angle 35/4 K 4-hole angle 35/4 90° 4-hole angle 35/4 135°
Specification: Technical data:
Profile rail type: 35, 36 and Stex 35/20, 35/35, 35/42 Material: steel
Material type: S235JR
Surface: galvanized
Remark: admissible loads are depending on component.
Description Dimension Weight Packing Part-No.
[mm] [kg/pc.] [pcs.]
2-hole angle 35/4 47 x 47 0,094 100 0814510
3-hole angle 35/4 K 91 x 47 0,139 50 0814520
4-hole angle 35/4 90° 91 x 91 0,185 50 0814530
4-hole angle 35/4 135° 88 x 88 0,185 50 0814540

Phone +49 7944 64-0

'MEFR)

Fax +49 7944 64-37



B Connector 35

02

Connector 35 horizontal Connector 35 vertical
Specification: Technical data:
Profile rail type: 35, 36 and Stex 35/20, 35/35, 35/42 Material: steel
Material type: S235JR
Surface: galvanized
Scope of supply: 2-hole plate 13 mm
hexagon screw M10
Remark: - not applicable as ceiling support
or vertical use (hanging)
- no use as console connection
Description Screws Plate Weight Packing Part-No.
LxBx$S
[mm] [ka/pc.] [pcs.]
Connector 35 horizontal M10 108 x35x 4 0,283 20 081645302
Connector 35 vertical M10 108 x 35 x 4 0,283 20 081655802

2/16 Phone +49 7944 64-0 'm Fax +49 7944 64-37 2019



Rail system 45

Quick-fixing system Stex 45

Insert Stex in Turn Stex Position Stex Counter Stex with nut

B Stex 45 threaded plate GP

optional with connection M8, M10 or M12

Your advantages:

- tooth and counter plate can be replaced by one-part STEX 45 threaded plate

- insert STEX 45 threaded plate into profile rail,turn it about 45°, plug threaded
pin and counter nut in and screw pipe clamp onto profile rail

- tooth plate guarantees a form-locking connection with profile rail

- after turning, STEX 45 threaded plate automatically locks in profile rail

- after turning, STEX 45 threaded plate can be positioned in profile rail by moving

- threaded pins or threaded rods can be turned in easily

B Stex 45 threaded bolt GB

optional with threaded pin M8, M10 or M12

Your advantages:
- tooth and counter plate, as well as threaded pin can be replaced by one-
part STEX 45 threaded bolt
- insert STEX 45 threaded bolt into profile rail,turn it about 45°, plug threaded
pin and counter nut in and screw pipe clamp onto profile rail
- length- and height differences up to 30 mm can be balanced without any tools
- due to different bolt lengths, differences up to 130 mm can be realised

B Stex 45 mounting bolt MTB

for mounting the rail constructions

Your advantages:

- insert mounting bolt into profile rail,turn it about 45°, position component and
counter nut

- circumstantial insertion of tooth bolts and tooth plates is not necessary

- profile rail keeps components on its own

- simplyfies mounting of connection parts in rail constructions

B Stex 45 mounting plate MP

for mounting the rail constructions or add-on-part

Your advantages:

- insert mounting bolt into profile rail, turn it about 45°, position component and
screw the bolt

- circumstantial insertion of tooth bolt and tooth plates is not necessary

- profile rail keeps on its own, no holder necessary

- simplyfies mounting of add-on-parts like sliding elements or connection parts in rail
constructions

Phone +49 7944 64-0 Fax +49 7944 64-37 2/17



Rail system 45

Profile type Recommended connecting parts
Mounting Mounting | Tooth plate Threaded 2-hole tooth
System com ponents 2lglelg QI 8| plate M2 bolt M12 square plate M12|  plate M12
HEIEICIEIE : -
IS99 $ tﬁ- a ‘ §
-]
Identification - catalogue page Part-No. 1280012 1280001 0818103 081613801 0818110
2-hole angle 40/5/081402400 |l |l |H |H B =& o ) o OaAo
02 Quantity: 2 | Quantity: 2 | Quantity: 2 Quantity: 2
Accessory: 2| scope of |A y:2| A y: 2
hex. screws delivery hex. screws hex. screws
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25
Page 2/34
3-hole angle 40/5 H EEE RN o () o OAo AO
Quantity: 3 | Quantity: 3 | Quantity: 3 Quantity: 3 Quantity: 1
L| 08140300 Accessory: 3| scope of |Accessory: 3| Accessory:3 |1 Mounting bolt
hex. screws delivery hex. screws hex. screws 3 hex. screws
K| 08140400 8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25 M12x25
Page 2/34
4-hole angle 40/5 | B0 BN BR BN BN | o ([} o Oao o
45°| 08141000 Quantity: 4 | Quantity: 4 | Quantity: 4 Quantity: 4 Quantity: 2
Accessory: 4| scope of | Accessory: 4| Accessory: 4 Accessory: 4
90°| 08140500 hex. screws delivery hex. screws hex. screws hex. screws
135°| 08140600 8.8M12x25 | withnut | 8.8 M12x25 | 8.8 M12x25 8.8 M12x25
Page 2/34
4-hole knot triangle| 08140701 |l |l |H |H B & o ) o OaAo o
page 2/33 Quantity: 4 | Quantity: 4 | Quantity: 4 Quantity: 4 Quantity: 2
Accessory: 4| scope of | Accessory:4 | Accessory: 4 Accessory: 4
hex. screws delivery hex. screws hex. screws hex. screws
Universal knot 8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25 8.8 M12x25
Page 2/32| 08141600
5-hole knot triangle| 08141701 |l |l ([H (H |H | B o () o OAo o
Quantity: 5 | Quantity: 5| Quantity: 5 Quantity: 5 Quantity: 2+
Accessory: 5| scope of |Accessory:5| Accessory:5 |1 Mounting bolt
hex. screws delivery hex. screws hex. screws Accessory: 5
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25 hex. screws
Page 2/33 M12x25
3-hole flat connector| 0814331 |l |l |H |H | H N o [ o AO
Quantity: 3 | Quantity: 3 | Quantity: 3 Quantity: 3
Accessory: 3| scope of |A y:3| A y: 3
hex. screws delivery hex. screws hex. screws
8.8 M12x25 with nut 8.8 M12x2 8.8 M12x25
Page 2/33
4-hole flat connector| 0814349 |l |H |H B B | N o ® o AO
Quantity: 4 | Quantity: 4 | Quantity: 4 Quantity: 4
Accessory: 4| scope of | Accessory: 4| Accessory: 4
hex. screws delivery hex. screws hex. screws
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25
Page 2/33
Flat connector 40/6| 0814307 |l |H |H H H | H o [ o AO
L-shape Quantity: 3 | Quantity: 3 | Quantity: 3 Quantity: 3
p Accessory: 3| scope of |A ry:3| A y:3
hex. screws | delivery | hex. screws hex. screws
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25
Page 2/33
Flat connector 40/6| 0814315 |l |H |H W B | N o [ o AO
T-shape Quantity: 4 | Quantity: 4 | Quantity: 4 Quantity: 4
Accessory: 4| scope of | Accessory:4| Accessory: 4
hex. screws delivery hex. screws hex. screws
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25
Page 2/33
Universal knot K[ 08141601 |l |l |l B B | N o () o o
Quantity: 2 | Quantity: 2 | Quantity: 2 Quantity: 2
Accessory: 2| scope of |Accessory:2| Accessory: 2
6 hex. screws| delivery |6 hex.screws| 6 hex.screws
8.8 M12x25 * | with nut* | 8.8 M12x25 * 8.8 M12x25*
Page 2/32
4-hole corner angle | B0 BN BR BN BN | o ® o AO AO
left| 08147100 Quantity: 4 | Quantity: 4 | Quantity: 4 Quantity: 4 Quantity: 2
. Accessory: 4| scope of |A y: 4 A y: 4 A y: 4
”ght 08147200 hex. screws delivery hex. screws hex. screws hex. screws
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25 8.8 M12x25
Page 2/35
Crossstrap| 0816582 |l ([H | H |H | H N Oo oo ° AoO A®
Quantity: 5 | Quantity: 5| Quantity: 6 Quantity: 5 Quantity: 2+
Accessory: 5| scope of |Accessory: 6| Accessory:5 |2 Mounting bolt
hex. screws delivery hex. screws hex. screws + 6 hex. screws
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25 M12x25
Page 2/35

B standard O conditional ® optimal O alternative A suitable for bolting in profile

Phone +49 7944 64-0 Fax +49 7944 64-37



Rail system 45

Profile type Recommended connecting parts
Mounting Mounting | Tooth plate | Threaded square| 2-hole tooth
System com ponents wig(elg QI 8| platem12 bolt M12 plate M12 plate M12
~ ~ ~ = - A - . -
WY V| OV 5B ‘ﬁ, =
S I et
]
Identification - catalogue page Part-No. 1280012 1280001 0818103 081613801 0818110
T-lug HEEEEN oo oo ) OaAo AO®
Quantity: 3 | Quantity: 3 | Quantity: 4 Quantity: 4 Quantity: 1
not angled 0816574 Accessory: 3| scope of |A ory: 4| A ory: 4 2 threaded 02
° hex. screws | delivery | hex. screws hex. screws plate
90° angled| 0816870 88M12x25 | withnut | 8.8M12x25 | 8.8M12x25 | 4 hex. screws
Page 2/35 M12x25
4-hole corner plate| 08165900 | |l |H H B | N o [ o AO AO
Quantity: 4 | Quantity: 4 | Quantity: 4 Quantity: 4 Quantity: 2
Accessory: 4| scope of |A y: 4| A y: 4 4 hex. screws
hex. screws | delivery | hex. screws hex. screws M12x25
Page 2/35 8.8 M12x25 | with nut | 8.8 M12x25 8.8 M12x25
Angle connector| 08123000 |l |l |H B N | N o [ o AO AO

Angle connector 90°/ 08123200 |m |m |m | ®m Quantlty:.2 Quantity: 2 Quantnty:.z Quantlty:.z Quantnty:_1
Accessory: 2| scope of |Accessory: 2| Accessory: 2 Accessory: 2

Angle connector 180°| 08123100 | | M | M | M | | | W | hex.screws | delivery | hex.screws hex. screws hex. screws

M12x25 with nut M12x25 M12x25 M12x25
Page 2/36
Head profile 45| 08162445 | B o ° o
60| 0816253 ] Quantity: 3 | Quantity: 3 | Quantity: 3
Accessory: 3| scope of |Accessory: 3
75| 08162875 | hex. screws | delivery | hex. screws
90| 08162690 u 8.8 M12x25 with nut 8.8 M12x25
120| 0816274 |
150/081628150 |
Page 2/38
3-hole corresp. angle 45 08141245 | & o ° o AO AO
Quantity: 3 | Quantity: 3 | Quantity: 3 Quantity: 3 Quantity: 1
3-hole corresp. angle 60| 08141300 u Accessory: 3| scope of |A y: 3| A y: 3 1 Mounting
hex. screws | delivery | hex. screws hex. screws bolt
8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25 3 hex. screws
Page 2/37 M12x25
Profile holder combi o [ o
Quantity: 1 Quantity: 1 Quantity: 1
13 mm - hole @] 08162945 |H |H W \H H N Accessory: 1 Accessory: 1| Accessory: 1
17 mm-hole @| 08163365 | | | | W | W | | | hex.screw hex. screw hex. screw
8.8 M12x30 M12x30 + H M12/16x30+H
+H
Page 2/38
Connector o ° o OoaA AO

4508162000 | |H (W W H | ®m Quantity: 4 | Quantity: 4 | Quantity: 4 Quantity: 2 Quantity: 2
Accessory: 4| scope of |Accessory:4| Accessory: 4 Accessory: 4
hex. screws | delivery | hex.screws | hex. screws 8.8 | hex. screws

8.8 M12x25 with nut 8.8 M12x25 M12x25 8.8 M12x25
Page 2/37
Holder [ Oo o AO [
45/26-52 vertical| 08120102 | m Quantity: 2 | Quantity: 2 | Quantity: 2 Quantity: 2 Quantity: 1
3 Accessory: 2| scope of |Accessory: 2| Accessory: 2 Accessory: 2
s 45/26-75 horizontal| 08120402 |l | M | M | O | O | O | hex. screws | delivery | hex. screws | hex. screws 8.8 | hex. screws
“/ 45/60-75 verticall 08121802 | O | m | m 8.8 M12x25 with nut 8.8 M12x25 M12x25 8.8 M12x25
Page 2/39
Holder [ o o oe
45/90| 08120952 [ Quantity: 4 Quantity: 4 Quantity: 4 Quantity: 2
Accessory: 4 Accessory: 4| Accessory: 4 Accessory: 4
45/120| 08121002 | | hex. screws hex. screws hex. screws hex. screws
45/150| 08121452 ] 8.8 M12x25 8.8 M12x25 8.8 M12x25 8.8 M12x25
Page 2/39
Joint holder o ° o AO AO
vertical{08120600 | | W (O OO AQuantity: 33 Quantity:f3 AQuantity: 33 AQuantity: 33 , 3:3:::2;1;0“
. ccessory: scope 0 ory: ory:
horizontal|08121100 | M | M | M | O 0| O/ scrgvs delivery | hex. scrle‘\:vs hex. scr;)\,nls plate Acc.:3 hex.
Page 2/44 8.8M12x25 | withnut | 8.8 M12x25 | 8.8 M12x25 | Screws M12x25
Joint holder with H R R ODODO o ° AO AO
Quantity: 2 | Quantity: 2 | Quantity: 2 Quantity: 2 Quantity: 1
base pllate 08122600 Accessory: 2| scope of |A y:2| A y: 2 A y:2
vertical| 08122500 hex. screws | delivery | hex.screws | hex. screws hex. screws
Page 2/43 8.8 M12x25 with nut 8.8 M12x25 8.8 M12x25 8.8 M12x25

Connector| Page 2/36
Joint holder| Page 2/44
Joint connector| Page 2/41

B standard O conditional ® optimal O alternative A suitable for bolting in profile

2019 Phone +49 7944 64-0 Fax +49 7944 64-37 2/19



Rail system 45

02

B Profile rail 45, galvanized, c-profile rail, perforated, toothed

1._,~

Type 45/26/1,5 Type 45/45/1,5 Type 45/45/2,5 Type 45/60/3,0
and Type 45/45/2,0 and Type 45/75/3,0

Specification: Technical data:
Profile rail type: C-profile rail, perforated, toothed Material: steel GUTEZEICHEN
Mounting method: form-locking connections and Material type: S250GD-Z275-N-A o

shear hole haunch connections Surface: pre-galvanized TN

Material type: S235JRG2
Remark: double rails are perforated and welded Surface: hot-dip galvanized e
3)

" variations up to 1 mm at hot-dip galvanized elements possible 2 not certified acc. RAL

3 Load calculation acc. DIN EN 1993-1-2 (EC3)

Wy o™

Type 45/26

Identification Surface Weight Length Bulk pack Part-No.
[kg/m] [m] [m]

45/26/1,5 fbv pre-galv. 1,34 2 120 08202622

45/26/1,5 fbv pre-galv. 1,34 6 360 08202662

Type 45/45

45/45/11,5 fbv pre-galv. 1,89 2 80 082045215

45/45/1,5 fbv pre-galv. 1,89 6 240 082045615

45/45/2,0 fbv® pre-galv. 2,45 2 80 082045220

45/45/2,0 fbv® pre-galv. 2,45 6 240 082045620

45/45/2,5 fbv® pre-galv. 2,96 3 120 0820453251

45/45/2,5 fbv® pre-galv. 2,96 6 240 0820456251

45/45/2,5 fsv"? hot-dip galv. 3,21 3 120 0820453252

45/45/2,5 fsv"? hot-dip galv. 3,21 6 240 0820456252

Type 45/60

45/60/3,0 fbv® pre-galv. 4,06 6 180 0810762

45/60/3,0 fsv"? hot-dip galv. 4,35 6 180 0810770

Type 45/75

45/75/3,0 fbv® pre-galv. 4,82 6 180 08207562

45/75/3,0 fsv" 23 hot-dip galv. 5,15 6 180 08207561

@ technical overview of profile rails see on page 2/58
profile rails made of stainless steel V2A or V4A see in chapter 13

profile rails with various coatings on request

2/20 Phone +49 7944 64-0 'm Fax +49 7944 64-37



Profile rail 45, galvanized, c-profile rail, perforated, toothed

Rail system 45

02

Type 45/52 Type 45/90 Type 45/120

Type 45/150

Technical data:

Material: steel

Material type: S250GD-Z275-N-A
Surface: pre-galvanized
Material type: S235JRG2
Surface: hot-dip galvanized

Specification:
Profile rail type:
Mounting method:

C-profile rail, perforated, toothed
form-locking connections and
shear hole haunch connections

Remark: double rails are perforated and welded

" variations up to 1 mm at hot-dip galvanized elements possible 2 not certified acc. RAL

3 Load calculation acc. DIN EN 1993-1-2 (EC3)

GUTEZEICHEN

55 2

EFE:
éo%

RAL-GZ 655-C

D >
W En 19957

Type 45/52

Identification Surface Weight Length Bulk pack Part-No.
[kg/m] [m] [m]

45/52/1,5 D fbv® pre-galv 2,69 6 180 08215262

Type 45/90

45/90/1,5 D fbv? pre-galv 3,78 6 120
45/90/2,0 D fbv® pre-galv 4,90 6 120
45/90/2,5 D fbv® pre-galv 5,92 6 120
45/90/2,5 D fsv"?d hot-dip galv 6,35 6 120

0821901615

0821901620

0821901625
0821902625

Type 45/120
45/120/3,0 D fbv®
45/120/3,0 D fsv"?3

8,12
8,63

96
96

pre-galv
hot-dip galv

0810825
0810833

Type 45/150
45/150/3,0 D fbv®
45/150/3,0 D fsv" 23

9,64
10,24

96
96

pre-galv
hot-dip galv

‘@’Technical overview of profile rails see on page 2/58 ‘

'MEFR)

Phone +49 7944 64-0 Fax +49 7944 64-37

08225062
08225061



B STEX 45 threaded plate GP

Specification:

02

Technical data:

Stex 45 threaded plate GP

Identification

Stex 45 threaded plate GP M8*
Stex 45 threaded plate GP M10
Stex 45 threaded plate GP M12

B STEX 45 threaded bolt GB

Profile rail type: rail system 45, toothed Material: steel
Mounting method: form-locking connections and Material type: S235JR
shear hole haunch connections Surface: galvanized

Applications area: pipe clamp fixation

application loads see on page 2/27

* not certified acc. to RAL
Weight Packing Part-No.
[kg/pc.] [pcs.]
0,113 30 1280508
0,111 30 1280510
0,108 30 1280512

Specification:

Profile rail type: rail system 45, toothed

Mounting method: form-locking connections and
shear hole haunch connections

Applications area: pipe clamp fixation

application loads see on page 2/29

Technical data:

Material:

Material type:

Surface:

Threaded bolt:

steel
S235JR

galvanized

property class 4.6

Stex 45 threaded bolt GB

Identification Construction length
BL
[mm]
Stex 45 threaded bolt GB M8/50 23
Stex 45 threaded bolt GB M8/70 43
Stex 45 threaded bolt GB M8/90 63
Stex 45 threaded bolt GB M8/110 83
Stex 45 threaded bolt GB M8/130 103
Stex 45 threaded bolt GB M10/50 23
Stex 45 threaded bolt GB M10/70 43
Stex 45 threaded bolt GB M10/90 63
Stex 45 threaded bolt GB M10/110 83
Stex 45 threaded bolt GB M10/130 103
Stex 45 threaded bolt GB M12/50 23
Stex 45 threaded bolt GB M12/70 43
Stex 45 threaded bolt GB M12/90 63
Stex 45 threaded bolt GB M12/110 83
Stex 45 threaded bolt GB M12/130 103

2/22 Phone +49 7944 64-0 'm

Weight

[ka/pc.]

0,134
0,141
0,147
0,154
0,160

0,147
0,157
0,166
0,178
0,188

0,159
0,174
0,189
0,203
0,218

Fax +49 7944 64-37

Packing

[pcs.]

40
20
20
20
20

40
20
20
20
20

40
20
20
20
20

Part-No.

1281050
1281070
1281090
1281110
1281130

1282050
1282070
1282090
1282110
1282130

1283050
1283070
1283090
1283110
1283130



B STEX 45 mounting plate MP

Specification: Technical data:
Profile rail type: rail system 45, toothed Material: steel
S|  Mounting method: form-lock connections and Material type: S235JR
shear hole haunch connections Surface: galvanized
wazsso Applications area: connecting parts
Required accessory: hexagon screw FK 8.8 02

application loads see on page 2/27

* not certified acc. to RAL

Stex 45 mounting plate MP

Identification Weight Packing Part-No.
[ka/pc.] [pcs.]

Stex 45 mounting plate MP M6* 0,059 30 1280006

Stex 45 mounting plate MP M8* 0,058 30 1280008

Stex 45 mounting plate MP M10 0,056 30 1280010

Stex 45 mounting plate MP M12 0,053 30 1280012

B STEX 45 mounting bolt MTB

L= Specification: Technical data:
)| Profile rail type: rail system 45, toothed Material: steel
S5, | Mounting method: form-lock connections and Material type:  S235JR
O shear hole haunch connections Surface: galvanized
woeso  Applications area:  connecting parts Threaded bolt: property class 8.8

application loads see on page 2/27

Stex 45 mounting bolt MTB

incl. nut M12
Identification Weight Packing Part-No.
[kg/pc.] [pcs.]
Stex 45 mounting bolt MTB M12x40 0,099 40 1280001

2019 Phone +49 7944 64-0 m Fax +49 7944 64-37 2/23



M Tooth plate S

L= Specification: Technical data:
Profile rail type: rail system 45, toothed Material: steel
$52%,| Mounting method:  form-lock connections and Material type: S235JR
shear hole haunch connections Surface: galvanized
wazsso  Applications area: connecting parts, pipe clamp fixation

Required accessory: hexagon screw, threaded pin or -rod,
washer and hexagon nut

02

application loads see on page 2/27

* not certified acc. to RAL

Tooth plate S

Identification Dimension L x W Thread Weight Packing Part-No.
[mm] G [ka/pc.] [pcs.]

Tooth plate 34 x 21 Me6* 0,053 100 0818000

Tooth plate S 36 x 20 m8* 0,060 100 0818101

Tooth plate S 36 x 20 M10 0,058 100 0818102

Tooth plate S 36 x 20 M12 0,056 100 0818103

B Tooth plate S Zinc-Nickel

e Specification: Technical data:

G Profile rail type: rail system 45, toothed Material: steel

$2%%  Mounting method:  form-lock connections and Material type: S235JR
shear hole haunch connections Surface: zinc-nickel

RALGZ 6550 Applications area:  connecting parts, pipe clamp fixation, hot-dip

galvanized profile rail for outside application
Required accessory: hexagon screw, threaded bolt or -rod,
washer and hexagon nut

application loads see on page 2/27 * not certified acc. to RAL
Tooth plate S Zinc-Nickel
Identification Dimension L x W Thread Weight Packing Part-No.
[mm] G [ka/pc.] [pcs.]
Tooth plate S Zinc-Nickel 34 x 20 M8* 0,042 100 081810101/zn
Tooth plate S Zinc-Nickel 36 x 20 M10 0,058 100 0818102/zn
Tooth plate S Zinc-Nickel 36 x 20 M12 0,056 100 0818103/zn
B Tooth bolt
o Specification: Technical data:
Profile rail type: rail system 45, toothed Material: steel
$5%%,|  Mounting method: form-lock connections and Material type: S235JR
shear hole haunch connections Surface: galvanized
mazsso Applications area: connecting parts, pipe clamp fixation ~ Tooth bolt: property class 8.8

Required accessory: washer and hexagon nut

application loads see on page 2/27

* not certified acc. to RAL

Tooth bolt
Identification Usable length NL Thread Weight Packing Part-No.
[mm] G [kg/pc.] [pcs.]
Tooth bolt 17,5 M8* 0,072 100 0816936
Tooth bolt 17,5 M10 0,070 100 0816944
Tooth bolt 22,5 M12 0,085 100 0816952

2/24 Phone +49 7944 64-0 'm Fax +49 7944 64-37 2019



B Hammer head screw 45

Rail system 45

Specification:

Technical data:

Profile rail type: rail system 45 Material: steel
Mounting method: glide fast connections and Material type:  S235JR
shear hole haunch connections Surface: galvanized
Applications area: pipe clamp fixations
02
" not in combination with thread M8/10
2 not in combination with thread M10/12
Hammer head screw
Identification Thread Construction length Usable length Weight Packing Part-No.
GxGL BL NL
[mm] [mm] [mm] [ka/pc.] [pcs.]
Hammer head screw M8x35 " 19,5 9,5 0,099 50 0698735
Hammer head screw M8x40 24,5 14,5 0,101 50 0698740
Hammer head screw M8x50 34,5 24.5 0,104 50 0698750
Hammer head screw M8x70 54,5 445 0,111 50 0698770
Hammer head screw M10x352 19,5 8,0 0,109 50 0699235
Hammer head screw M10x50 34,5 23,0 0,117 50 0699250
Hammer head screw M10x70 54,5 43,0 0,127 50 0699270
Hammer head screw M12x40 25,0 11,0 0,123 50 0699740
Hammer head screw M12x50 35,0 21,0 0,130 50 0699750
Hammer head screw M12x70 55,0 41,0 0,145 50 0699770
B Threaded plate
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Mounting method: glide fast connections and Material type:  S235JR
shear hole haunch connections Surface: galvanized
Applications area: pipe clamp fixation
Required accessory:  hexagon screw, threaded bolt or -rod,
washer and hexagon nut
application loads see on page 2/29
Threaded plate
Identification Type Thread Weight Packing Part-No.
G
[kg/pc.] [pes.]
Threaded plate 40 x 22 M8 0,043 100 0750107
Threaded plate 40 x 22 M10 0,041 100 0750115
Threaded plate 40 x 22 M12 0,040 100 0750123

Phone +49 7944 64-0

Fax +49 7944 64-37




B Threaded square plate

Specification: Technical data:

Profile rail type: rail system 45 Material: steel

Mounting method: glide fast connections and Material type: S235JR
shear hole haunch connections Surface: galvanized

Applications area: connecting parts, can be mounted on

02

bottom of profile

Required accessory:  hexagon screw property class 8.8,
threaded bolt or- rod,
washer and hexagon nut

application loads see on page 2/29

Threaded square plate

For profile rail width 45 mm

Identification Dimension Thread Weight Packing Part-No.
LxBx$S G
[mm] [kg/pc.] [pcs.]
Threaded square plate 30x35x6 M8 0,048 50 0816112
Threaded square plate 30x35x6 M10 0,047 50 081612001
Threaded square plate 30x35x6 M12 0,046 50 081613801
Threaded square plate 30x35x8 M16 0,058 50 0816146

M 2-hole tooth plate

e Specification: Technical data:
Profile rail type: rail system 45 Material: steel
= Mounting method: ~ form-lock connections and Material type: S235JR
shear hole haunch connections Surface: galvanized”
RALGZ 665D Applications area: connecting parts, threaded plate
can be mounted on bottom
of profile rail

Required accessory: hexagon screw property class 8.8,
washer and hexagon nut

application loads see on page 2/27

2-hole tooth plate " components for outdoor application also available with Zinc-Nickel-coating
(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!

Identification Dimension Thread Weight Packing Part-No.
LxWxT [kg/pc.] [pcs.]
2-hole tooth plate 55x35x8 M12 0,106 50 0818110

2/26 Phone +49 7944 64-0 Fax +49 7944 64-37 2019



B Admissible loading capacity according to RAL-GZ 655-D

in combination with STEX 45, 2-hole tooth plate, tooth plate S, tooth bolt
global safety coefficient y = 2

STEX 45 threaded bolt, STEX 45 mounting plate, STEX 45 mounting bolt

Profile rail M12 8.8 M10 8.8
pre-galvanized L*J F, > F,

F F, tightening torque tightening torque 02
[kN] [KN] [Nm] [Nm]

45/26/1,5
45/52/1,5 D
45/45/1,5
45/90/1,5 D
45/45/2,0
45/90/2,0 D
45/45/2,5
45/90/2,5 D
45/60/3,0
45/120/3,0 D
45/75/3,0
45/150/3,0 D

4,11 3,86

50 45

10,94 4,41

2-hole tooth plate

Profile rail M12 8.8
pre-galvanized L*J F, > F,

F F, tightening torque
[kN] [kN] [Nm]

45/26/1,5
45/52/1,5 D
45/45/1,5
45/90/1,5 D
45/45/2,0
45/90/2,0 D
45/45/2,5
45/90/2,5 D
45/60/3,0
45/120/3,0 D
45/75/3,0
45/150/3,0 D

5,57 10,00

60

13,97 12,81

Tooth plate S, tooth bolt

Profile rail Ll 2 M12 8.8 M108.8
pre-galvanized * Fz > Fx

F, F, tightening torque | tightening torque
[kN] [kN] [Nm] [Nm]

45/26/1,5
45/52/1,5D
45/45/1,5
45/90/1,5 D
45/45/2,0
45/90/2,0 D
45/45/2,5
45/90/2,5 D
45/60/3,0
45/120/3,0 D
45/75/3,0
45/150/3,0 D

2019 Phone +49 7944 64-0 m Fax +49 7944 64-37 2/27

4,50 3,91

60 50

13,86 4,32




B Admissible loading capacity according to RAL-GZ 655-D

in combination with STEX 45, 2-hole tooth plate , tooth plate S, tooth bolt
global safety coefficient y = 2

STEX 45 threaded bolt, STEX 45 mounting plate, STEX 45 mounting bolt
Profile rail | {
hot-dip galvanized L*J F, ' - F, M128.8 M108.8
F, F, tightening torque tightening torque

[kN] [kN] [Nm] [Nm]
45/45/2,5
45/90/2,5 D
45/60/3,0

10,94 2,95 50 45
45/120/3,0 D
45/75/3,0*
45/150/3,0 D*

2-hole threaded plate
Profile rail [ !
hot-dip galvanized L JFz > F, M12838
F, F, tightening torque

[kN] [kN] [Nm]
45/45/2,5
45/90/2,5 D
45/60/3,0

13,97 4,38 60
45/120/3,0 D
45/75/3,0*
45/150/3,0 D*

Tooth plate S, tooth bolt
. - I‘-——-; b 4
Profile rail |
hot-dip galvanized L*J F, ' - F, M128.8 M108.8
F, F, tightening torque | tightening torque

[kN] [kN] [Nm] [Nm]
45/45/2,5
45/90/2,5 D
45/60/3,0

13,86 2,90 60 50
45/120/3,0 D
45/75/3,0*
45/150/3,0 D*

* without approval according to RAL-GZ 655-D

2/28 Phone +49 7944 64-0 'm Fax +49 7944 64-37 2019



B Admissible loading capacity

Rail system 45

in combination with Stex45, threaded bolt GB, threaded plate, threaded square plate

global safety coefficient y = 2

Profile rail
pre-galvanized

> F

STEX 45 GB, threaded bolt GB

M12 4.6

F

tightening torque

[kN]

[(Nm]

45/26/1,5

45/52/1,5 D

45/45/1,5

45/90/1,5 D

45/45/2,0

45/90/2,0 D

2,80

45/45/2,5

45/90/2,5 D

45/60/3,0

45/120/3,0 D

45/75/3,0

45/150/3,0 D

2,80

29

Profile rail
pre-galvanized

> F,

Threaded plate 40 x 22 (40,5 x 19 x 8)

M12 8.8

FX
[kN]

tightening torque
[(Nm]

45/26/1,5

45/52/1,5D

45/45/1,5

45/90/1,5D

45/45/2,0

45/90/2,0 D

45/45/2,5

45/90/2,5 D

45/60/3,0

45/120/3,0 D

45/75/3,0

45/150/3,0 D

10,00

40

Threaded square plate

30 x 6, (M16 35 x 30 x 8)*

M10 and M12 35 x

1 _
Profile rail M12 8.8
pr:-g:Iv:mized L*J F, > F (M16 8.8) M1088
Z F, tightening torque | tightening torque
[kN] [kN] [Nm] [Nm]
45/26/1,5
45/52/1,5 D
45/45/1,5 2,80 1,45
45/90/1,5 D (3,23) (1,70)*
45/45/2,0
45/90/2,0 D 40 35
45/45/2,5 (60)
45/90/2,5 D
45/60/3,0 8,6 1,75
45/120/3,0 D (8,8) (2,00)
45/75/3,0
45/150/3,0 D

* Values in brackets only for M16 35 x 30 x 8

Phone +49 7944 64-0

'MEFR)

Fax +49 7944 64-37

02



B Admissible loading capacity

in combination with Stex45, threaded bolt GB, threaded plate, threaded square plate

02

global safety coefficient y = 2

STEX 45 GB, threaded bolt GB

45/150/3,0 D*

Profile rail m { M12 4.6
hot-dip galvanized * Fz —-> Fx .
F, F. tightening torque
[kN] [kN] [Nm]
45/45/2,5
45/90/2,5 D
45/60/3,0
9,54 2,36 29
45/120/3,0 D
45/75/3,0*
45/150/3,0 D*
Threaded plate 40 x 22
. . I‘"_"'; Y 7
Profile rail {
hot-dip galvanized L*J F, > F M128.8
F, F tightening torque
[kN] [kN] [Nm]
45/45/2,5
45/90/2,5 D
45/60/3,0
10,00 1,74 60
45/120/3,0 D
45/75/3,0*

Threaded square plate M10 and M12 35 x 30 x 6, (M16 35 x 30 x 8)**

Profile rail m { M12 8.8 M10 8.8
hot-dip galvanized V-F, > F (M16 8.8) :
F, F, tightening torque tightening torque

[kN] [kN] [Nm] [Nm]
45/45/2,5
45/90/2,5 D
45/60/3,0 8,60 1,60 40 35
45/120/3,0 D (8,80)* (1,90)* (60)*
45/75/3,0*
45/150/3,0 D*

* without approval according to RAL-GZ 655-D
** Values in brackets only for M16 35 x 30 x 8

Phone +49 7944 64-0

'MEFRA)

Fax +49 7944 64-37



Rail system 45

M Perforated plate

Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Material type:  S235JR
Surface: galvanized"
" components for outdoor application areas also available with Zinc-Nickel-coating 02

(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!

Perforated plate

Identification Hole-@ Weight Packing Part-No.
[mm] [kg/pc.] [pcs.]

Perforated plate 13 0,081 50 0814016

Perforated plate 17 0,076 50 0814017

B Protecting cap

Specification: Technical data:
Profile rail type: rail system 45 Material: plastic PE
Material colour: black

Protecting cap

Identification Weight Packing Part-No.
[kg/pc.] [pcs.]

Protecting cap 45/ 26 0,007 50 0819005

Protecting cap 45/ 40 (for stainless steel profile rails) 0,010 50 0819032

Protecting cap 45/ 45 0,008 50 0819036

Protecting cap 45/ 60 0,015 50 0819042

Protecting cap 45/ 75 0,019 50 0819046

M Head adapter

* F Specification: Technical data:
P ]1“ 10 Profile rail type: rail system 45/45 Material: steel
: Applications area: Connection angle for the head-side Material colour: S235JR
thread connection for 45-45 rails Surface: galvanized
Head adapter K
Identification thread max. load F1 Weight Packing Part-No.
[kN] [ka/pc.] [pcs.]
Head adapter K M10 1,0 0,398 1 081656710

2019 Phone +49 7944 64-0 m Fax +49 7944 64-37 2/31



Rail system 45

B Universal knot

02

Universal knot

Universal knot K

Specification:
Profile rail type:
Applications area:

rail system 45
corner joint of C-profile channels

combination of knot triangle,
corner lug and corner angle
left and right

Loads refering to component, not to connection
" components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223).

Delivery time on demand!

2Remark: torque free rail connection.

Technical data:
Material:
Material type:
Surface:

steel
S235JR
galvanized"

Identification

Universal knot
Universal knot K*

2/32 Phone +49 7944 64-0

Weight Packing
[kg/pc.] [pcs.]
0,803 10
0,445 25

Fax +49 7944 64-37

Part-No.

08141600
08141601



B Flat connector

Rail system 45

02

3-hole flat connector 40/5 4-hole flat connector 40/5 L-shaped flat connector 40/6 T-shaped flat connector 40/6

Specification:

Technical data:

Profile rail type: rail system 45 Material: steel

Material type: S235JR

Surface: galvanized
Remark: torque free rail connection
Identification Dimension Weight Packing Part-No.

[mm] [kg/pc.] [pcs.]

3-hole flat connector 40/5 133x40x5 0,192 25 0814331
4-hole flat connector 40/5 176 x40 x 5 0,250 25 0814349
Flat connector 40/6 L-shape 85x80x6 0,221 25 0814307
Flat connector 40/6 T-shape 130 x 80 x 6 0,301 25 0814315

B Knot triangle

4-hole knot triangle 40/5 5-hole knot triangle 40/5

Specification:

Technical data:

Profile rail type: rail system 45 Material: steel
Material type: S235JR
" components for outdoor application also available with Zinc-Nickel-coating Surface: galvanized”
(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!

2) loads refering to component, not to connection
%) loads refering to component, double-sided fixed on profile
Identification Dimension Max. load Weight Packing Part-No.

LxW F,2 F,»

without profile rail ~ with profile rail

[mm] [kN] [kN] [kg/pc.] [pcs]
4-hole knot triangle 40/5 102,5x 102,5 2,0 6,0 0,327 25 08140701
5-hole knot triangle 40/5 135x102,5 2,0 6,0 0,373 25 08141701

2019 Phone +49 7944 64-0

'EE Fax +49 7944 64-37 2/33



B Angle 40/5

02
1025
N
2-hole angle 40/5 2-hole angle 40/5, 3-hole angle 40/5 L 3-hole angle 40/5 K
with elongated hole, vertical
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
" components for outdoor application also available with Zinc-Nickel-coating Material type: S235JR
(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand! Surface: galvanized"
2 loads refering to component, not to connection
3) loads refering to component, double-sided fixed on profile
Identification Dimension Max. load Weight Packing Part-No.
szz) Fzzs)
without profile rail with profile rail
[mm] [kN] [kN] [kg/pc.] [pcs.]
2-hole angle 40/5 65 x 65 1,0 2,5 0,185 50 081402400
2-hole angle 40/5, 65 x 65 1,0 2,5 0,178 50 08147300
elongated hole horizontal
3-hole angle 40/5 L 102,5 x 65 1,0 2,5 0,234 25 08140300
3-hole angle 40/5 K 102,5 x 45 1,0 2,5 0,202 50 08140400
B Angle 40/5
4-hole angle 40/5 135° 4-hole angle 40/5 90° 4-hole angle 40/5 45°
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Material type: S235JR
.3) loads refering to component, not to connection Surface: galvanized
2 loads refering to component, double-sided fixed on profile
Identification Dimension Max. load Weight Packing Part-No.
FZ11) FZZZ) an)
without profile rail ~ with profile rail
[mm] [kN] [kN] [kN] [kg/pc.] [pcs.]
4-hole angle 40/5 135° 102,5 x 102,5 - - 6,6 0,293 50 08140600
4-hole angle 40/5 90° 102,5x 102,5 1,0 2,5 - 0,283 50 08140500
4-hole angle 40/5 45° 116 x 116 - 2,5 - 0,336 25 08141000

2/34 Phone +49 7944 64-0 'm Fax +49 7944 64-37 2019



Rail system 45

Z13

02
-
Cross strap 4-hole corner plate T-lug, not angled T-lug, angled

Specification: Technical data:
Profile rail type: rail system 45 Material: steel

Material type: S235JR

Surface: galvanized"
Remark: admissible loads are dependant on component
" components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
Identification Dimension Weight Packing Part-No.

LxWxT
[mm] [kg/pc.] [pcs.]
Cross strap 195x110x 5 0,626 10 0816582
4-hole corner plate 130 x40 x5 0,417 10 08165900
T-lug, not angled 120x 110 x 5 0,404 25 0816574
T-lug 90° angled 85x110x5 0,404 25 0816870
Bl Corner angle
4-hole corner angle right 4-hole corner angle left

Specification: Technical data:
Profile rail type: rail system 45 Material: steel

Material type: S235JR

Surface: galvanized
Remark: admissible loads are dependant of component
Identification Weight Packing Part-No.

[kg/pc.] [pcs.]

4-hole corner angle right 0,384 15 08147200
4-hole corner angle left 0,384 15 08147100

2019 Phone +49 7944 64-0 m Fax +49 7944 64-37 2/35



Rail system 45

B Angle connector

02

Angle connector C 45 Angle connector C 45 90° Angle connector C 45 180°
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Applications area: connection of profile rail Material type: S235JR
and frames Surface: galvanized"

" components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
2 loads refering to component, not to connection
¥ loads refering to component, double-sided fixed on profile

Remark: With lateral screw connection , 2-hole tooth plates have to be used

Identification Max. load Max. load Weight Packing Part-No.
Fz12) Fzza)
without profile rail with profile rail
[kN] [kN] [kg/pc.] [pcs.]
Angle connector C45 1,5 4,0 0,548 15 08123000
Angle connector C45 90° 1,5 4,0 0,361 15 08123200
Angle connector C45 180° 1,5 4,0 0,481 15 08123100

B Connector 45

Connector 45 lengthways Connector 45 horizontal
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Applications area: connection of profile rails, Material type: S235JR
moment-free connections only Surface: galvanized
(not for connection of consoles)
Scope of supply:: 2-hole plate 13 mm

hexagon screw M12

Identification Screws Weight Packing Part-No.
[ka/pc.] [pcs.]

Connector 45 lengthways M12 0,491 25 081656601

Connector 45 horizontal M12 0,491 25 081646501

2/36 Phone +49 7944 64-0 Fax +49 7944 64-37 2019



B 3-hole corresponding angle 40/5

Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Material type:  S235JR
Surface: galvanized
* loads refering to component, not to connection 02
Corresponding angle 40/5
Identification Dimension Max. load * Weight Packing Part-No.
H F,
[mm] [kN] [kg/pc.] [pcs ]
Corresponding angle 45 45 1,0 0,272 25 08141245
Corresponding angle 60 60 1,0 0,301 25 08141300

B Connector 45

Remark:

fixation on top of rail

(not double profile rails) to
reach equal load capacity as
unbroken rail

Connector 45 Connector 45
rail slot at top rail slot at bottom
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Applications area: for static load connection and extension Material type: S235JR
of C-profile rails of the rail system 45 Surface: galvanized”
Recommended accessory: 4 x tooth plate S M12 or Stex 45 MP/MTB M12 ") components for outdoor
4 x hexagon screw M12 x 25 application also available with
4 x washer 13 x 24 x 2,5 (DIN 7089-12) Zinc-Nickel-coating (corrosion-
protection class C3 acc. to ISO 9223).
Remark: connecting of double profile rails Delivery time on demand!
with two connectors 45
For profile rail width 45
Identification Height Width Weight Packing Part-No.
[mm] [mm] [ka/pc.] [pcs.]
Connector 45 39,7 50 1,05 15 08162001

"5(’ mounting recommendation see chapter 15

2019 Phone +49 7944 64-0 Fax +49 7944 64-37 2/37



Rail system 45

02

B Profile holder

Profile holder

Specification: Technical data:

Profile rail type: rail system 35, 45, Stex 35 Material: steel
Applications area: suitable for connection of profile rails Material type: S235JR
Surface: galvanized”

" components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!

For profile rail 35, 45 and Stex 35

Identification Tightening torque Max. load Hole-& Weight Packing Part-No.
FZ
[Nm] [kN] [mm] [ka/pc.] [pcs.]

Profile holder combi 11 10 4,7 11,0 0,049 100 08095035
Profile holder combi 13 10 47 13,0 0,047 100 08162945
Profile holder combi 17 10 4,7 17,0 0,046 100 08163365
B Head profile

Specification: Technical data:

Profile rail type: rail system 45 Material: steel

Applications area: suitable for connection of profile rails Material type: S235JR

Surface: galvanized
Head profile
Identification Suitable for Material Weight Packing Part-No.
profile rail L A L1 h Max. load thickness
FZ
[mm]  [mm] [mm]  [mm] [kN] [mm] [ka/pc.] [pcs.]

Head profile 26 45/26 1345 105 46 26 3,5 4 0,176 25 08162326
Head profile 45 45/45 134,5 105 46 45 3,5 4 0,218 25 08162445
Head profile 52 45/52-D 1345 105 46 52 3,5 4 0,235 25 08162452
Head profile 60 45/60 1345 105 46 60 3,5 4 0,253 25 0816253
Head profile 75 45/75 1345 105 46 75 3,5 4 0,286 25 08162875
Head profile 90 45/90-D 1345 105 46 920 3,5 4 0,320 25 08162690
Head profile 120 45/120-D 134,5 105 46 120 3,5 4 0,387 25 0816274
Head profile 150 45/150-D 134,5 105 46 150 3,5 4 0,454 1 081628150

Phone +49 7944 64-0

'MEFRA)

Fax +49 7944 64-37



B 2-hole suspending console

Rail system 45

@85~ ] Specification: Technical data:
A = Application area: universal fixation e.g. Material: steel
"“*'23 ( suitable for ceiling suspension Material type:  S235JR
: 100 Surface: galvanized
" loads refering to component, not to connection
02
4 !
F,
-~
‘ 50
|-
2-hole suspending console
100/50/4
Identification Dimension Hole-@ max. load Weight Packing Part-No.
LxBxS F,"
[mm] [mm] [kN] [ka/pc.] [pcs.]
2-hole suspending console 100 x 50 x 4 8,5 1,9 0,196 50 9998541

Holder horizontal

Holder vertical

Holder for double

Holder square

for C-profile rail for C-profile rail C-profile rail for C-profile rail
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Applications area: for fixation of profile rails Material type: S235JR
on construction Surface: hot-dip galv”
" variations in dimension up to 1 mm possible
2 loads refering to component, not to connection
% matching sound-decoupling set see on page 3a/11
Max.
Hole  Max. load
Identification Plate distance profile Suitable for F,? Weight Packing Part-No.
L xB w height
C-profile 45/...
[mm] [mm] [mm] [26|45|60|75|52D | 90D |120D| 150D | [kN] [kg/pc.] [pcs.]
Holder 45/26-75 horizontal® 137 x 70 95 75 |@ | o | 0| @ . 12,0 0,90 15 08120402
Holder 45/26-52 vertical® 137 x 70 95 52 | e | @ . 9,3 0,90 15 08120102
Holder 45/60-70 vertical 160 x 70 118 75 o e 7,3 1,01 15 08121802
Holder 45/90 186 x 70 144 90 ° 13,7 1,41 10 08120952
Holder 45/120 216 x 70 174 120 ° 13,7 1,55 5 08121002
Holder 45/150 246 x 70 204 150 (] 13,5 1,68 5 08121452
Holder ,,Holorib* 200 x 200 150 e o |0 o . [ o . 10,0 3,49 5 08197000

Phone +49 7944 64-0

Fax +49 7944 64-37



Rail system 45

B Rooftop holder for rooftop constructions

02
10
Rooftop holder complete Rubber wedge 4° Rooftop holder complete with
rubber wedge underneath

Specification: Technical data:
Profile rail type: 45/26, 45/45, 45/60, 45/52, 45/60, 45/75, Material holder: steel

45/90, 45/120 Material type: S235JR
Applications area: for profile channel constructions onto rooftop Surface screw : zinc-nickel
Installation advise: position rooftop holder on rubber pad. Surface holder:: hot-dip galv.

For compensation of possible roof pitch place rubber wedge

(4°) below rubber pad Material
Separation fleece: recommended for use on PVC membrane roof surfaces to rubber pad: EPDM

prevent migration of plasticizer separation fleece: polyester
Scope of delivery
(Rooftop holder complete): 1 x rubber pad according to building

1 x holder material class DIN 4102: B2

2 x hexagon screws M12 x 25

1 x 2-hole tooth plate temperature resistance

separation fleece: -60°C up to +220°C
* Permissible floor load has to be checked by the customer. Wind and snow loads must be considered separately.
Identification Dimension Dimension Pressure Weight Packing Part-No.
steel plate rubber pad / seperation fleece load
[mm] [mm] [kN] [ka/pc.] [pcs.]
Rooftop holder complete 200x200x6 225x225x17 4,0 3,71 2 08197500
Rooftop holder rubber wedge - 270x270x28/10 4,0 1,73 1 08197598
Rooftop holder separation fleece - 270x270x3,5 - 0,04 1 0819759701
2/40 Phone +49 7944 64-0 Fax +49 7944 64-37



Rail system 45

B Joint connector for C-profile rails

Specification: Technical data:
Profile rail type: rail system 45 Material: steel
e Applications area: mounting of two profile rails Material type: S235JR
of various angularity Surface: galvanized"
Bz~ Loads see Profile joint connector page 2/42
" components for outdoor application also available with Zinc-Nickel-coating
(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
Joint connector
for C-profile rails
Identification Dimension Angle B Weight Packing Part-No.
LxWxT
[mm] [kg/pc.] [pcs.]
Joint connector 115x40x5 +/-160° 0,461 25 08122200

B Joint angle

Admissible load at angle g

Angle B 0° 30° 45° 60° 90°

Fzul.* [kN] 45 5,2 4,0 3,2 2,8

Joint angle Mounting example

Joint angle with bracing

Specification:

Technical data:

Applications area: for bracing of threaded rod M12 with Material: steel
arbitrary angularity. Material type: S235JR
fixation onto profile channel or direct-mounting Surface: galvanized"

Remark:

onto building structure.

for upright mounting consider shear
forces in radial tubular axle

" components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
* loads refering to component, not to connection

Identification Hole-@ Angle B Weight Packing Part-No.
[mm] [kg/pc.] [pcs.]
Joint angle 40/5 13 0°-90° 0,407 20 08122300

Phone +49 7944 64-0

Fax +49 7944 64-37



Rail system 45

B Profile joint connector

02

Profile joint connector

Position of channel arbitrary

Specification:

Technical data:

Profile rail type: rail system 45 Material: steel
Applications area: connection of C-profiles channels of system 45 Material type: S235JR
with adjustable angle, position of channel arbitrary Surface: galvanized
Recommended accessory: 2 x 2-hole tooth plate
4 x hexagon screws M12 x 25
* loads refering to component, not to connection
Identification Hole-@ Angle B Weight Packing Part-No.
[mm] [ka/pc.] [pcs.]
Profile joint connector 13 30° -90° 0,684 10 08122700

Admissible load at angle B

Fq
zul. /B
Angle B 30° 45° 60° 90°
Fzul.* [kN] 6,0 4,24 3,45 3,0

Phone +49 7944 64-0

'MEFRA)

Fax +49 7944 64-37



M Joint holder with base plate

Joint holder with
base plate horizontal

Joint holder with
base plate vertical

Rail system 45

02

Specification:
Profile rail type:
Mounting method:

Recommended accessory:

Applications area:

rail system 45
on inclined roof- and bottom construction
stepless fixable

1 x 2-hole tooth plate
2 x hexagon screw M12 x 25
2 x washer DIN 7089-12

cross girder at various
angle up to 90°

Technical data:

Material: steel
Material type: ~ S235JR
Surface: galvanized”

" components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
2 |oads refering to component, not to connection

Identification Dimension plate Tightening
[mm] [Nm]

Joint holder with base plate horizontal 190 x 80 x 8,0 50

Joint holder with base plate vertical 190 x 80 x 8,0 50

torque

Phone +49 7944 64-0

Max. load Weight Packing Part-No.
F,2
[kN] [kg/pc.] [pcs.]
7,0 1,67 10 08122500

7,0 1,67

Fax +49 7944 64-37

10 08122600



B Joint holder

02

Joint holder Joint holder
vertical horizontal
Specification: Technical data:
Profile rail type: rail system 45 Material: steel
Mounting method: on inclined roof- and bottom construction ~ Material type: S235JR
stepless fixable Surface: galvanized"

Recommended accessory: 1 x 2-hole tooth plate
2 x hexagon screw M12 x 25
2 x washer DIN 7089-12

Applications area: cross girder at various
angle up to 90°

" components for outdoor application also available with Zinc-Nickel-coating (corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
2 Joads refering to component, not to connection

Identification For profile rail width Hole-@ Tightening Max. load Weight Packing Part-No.
torque F2
[mm] [mm] [Nm] [kN] [ka/pc.] [pcs.]
Joint holder vertical 45 13 50 7,0 0,82 15 08120600
Joint holder horizontal 45 13 50 7,0 1,13 5 08121100

B Joint holder with terminal hole

Specification: Technical data:

Mounting method: on inclined roof- and bottom construction Material: steel
stepless fixable Material type: S235JR

Applications area: for connecting pipe clamps Surface: galvanized”

" components for outdoor application also available with Zinc-Nickel-coating
(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!

2) loads refer to component, not to connection

Joint holder with terminal hole

Identification For threaded rods B1 B2 Max. load Weight Packing Part-No.
F2
B1/B2 [mm] [mm] [kf\l] [ka/pc.] [pcs.]
Joint holder with terminal hole M8-M12 / M8-M12 13 13 10,0 0,722 25 0812072
Joint holder with terminal hole M8-M12 / M16 13 17 10,0 0,719 15 0812080
Joint holder with terminal hole M16 / M16 17 17 10,0 0,715 15 0812177

2/44 Phone +49 7944 64-0 Fax +49 7944 64-37



B Angle bracket

11x35

02

Angle bracket Knot bracket 100/150/4 L

Technical data:

Material: steel

Material type: S235JR

Surface: galvanized
" loads refering to component, not to connection
Identification Dimension max. load " Length Weight Packing Part-No.

LxBxS
[mm] [kN] [mm] [kg/pc.] [pcs.]

Angle bracket with 2 braces 200 x 200 x 5 50 150 1,07 15 0814083
Angle bracket with 2 braces 300 x 300 x 5 5,0 250 1,69 10 0814091
Knot bracket L 100 x 152 x 4 2,5 120 0,30 25 0803100

B Universal console

F|1 F2
l@

L/2

Universal console Universal console with knot Loading condition 1 (LC1) Loading condition 2 (LC2)

Technical data:

Material: steel

Material type: S235JR

Surface: galvanized
" loads refering to component, not to connection
Identification Dimension max. load " Weight Packing Part-No.

LxBx$S F, F,
[mm] [kN] [kN] [kg/pc.] [pcs ]

Universal console 200 x 200 x 4,0 6,5 4,0 1,02 15 0814201
Universal console 200 x 350 x 4,0 5,0 3,0 1,64 10 081421901
Universal console 350 x 550 x 4,0 4,0 1,5 2,73 6 081422701
Universal console with knot 200 x 350 x 4,0 6,2 4.9 2,03 10 081423501
Universal console with knot 350 x 550 x 4,0 6,5 3,7 4,14 6 081424301

2019 Phone +49 7944 64-0 m Fax +49 7944 64-37 2/45



B Carrier console 36/40/2,0

Specification: Technical data:
Dimension u-steel: 45 x32x 4,0 mm Material type u-steel: S235JR, fy = 235 N/mm?
Dimension profile rails: 36 x 40 x 2,0 mm Material type profile rails: S235JR, fy = 235 N/mm?
Material: steel
With enclosed protecting caps Surface: hot-dip galvanized
02 “ global safety coefficient: 1,54
Load specifications refer to component, not to connection
Carrier console
with brace
Identification Length Height hole distance Weight Packing Part-No.
L H dowel
J14x21
[mm] [mm] [mm] [kg/pc.] [pcs.]
Carrier console 36/40/2,0 420 320 275 2,36 6 180304203/fvz
Carrier console 36/40/2,0 525 355 310 2,88 6 180305253/fvz
Carrier console 36/40/2,0 630 380 335 3,38 6 180306303/fvz
Carrier console 36/40/2,0 735 490 445 414 6 180307353/fvz
Carrier console 36/40/2,0 840 490 445 4,35 6 180308403/fvz
Load and permissible loads:
F1 F2 Fi F2 L L /2w F{)
w2 L L2 L2
S| s S — L T .
————
- 2 = — B B [
load situation 1 load situation2 LS1+LS2 load situation 3load situation 4 bearing reaction forces
L F1 F2 F1=F2 q(0-L) q(Lr2-L) Fax™ \ Fo.™ \ Fa™
4,97 kN 3,73 kN -3,73 kN 4,97 kN
1,53 kN 2,30 kN -2,30 kN 1,53 kN
420 mm 1,42 kN 3,20 kN -3,20 kN 2,84 kN
11,14 kKN/m? 3,51 kN -3,51 kN 4,68 kN
13,53 kN/m? 3,20 kN -3,20 kN 2,84 kN
5,66 kN 4,72 kN -4,72 kN 5,66 kN
1,53 kN 2,55 kN -2,55 kN 1,53 kN
525 mm 1,53 kN 3,83 kN -3,83 kN 3,06 kN
9,82 kN/m? 4,30 kN -4,30 kN 5,16 kN
11,78 kN/m? 3,87 kN -3,87 kN 3,10 kN
4,84 kN 4,49 kN -4,49 kN 4,84 kN
1,54 kN 2,87 kN -2,87 kKN 1,54 kN
630 mm 1,54 kN 4,30 kN -4,30 kN 3,08 kN
8,49 kN/m? 4,97 kN -4,97 kN 5,36 kN
10,12 kN/m? 4,44 kN -4,44 kN 3,19 kN
4,56 kN 3,73 kN -3,73 kN 4,56 kN
1,06 kN 1,74 kN -1,74 kN 1,06 kN
735 mm 1,23 kN 3,03 kN -3,03 kN 2,46 kN
8,49 kN/m? 5,11 kN -5,11 kN 6,25 kN
9,42 kN/m? 4,25 kN -4,25 kN 3,47 kN
5,60 kN 3,75 kN -3,75 kN 5,60 kN
0,65 kN 1,23 kN -1,23 kN 0,65 kN
840 mm 0,69 kN 1,93 kN -1,93 kN 1,38 kN
4,08 kN/m? 3,75 kN -3,75 kN 4,02 kN
4,77 kN/m? 2,41 kN -2,41 kN 1,73 kN
Remark:

All load specifications refer exclusively to static loads.

Phone +49 7944 64-0

Fax +49 7944 64-37



B Console C-profile 27/18/1,25 mm

Rail system 45

Console C 27/18/1,25 mm
Profile slot at bottom side

Identification

Console C-27/18
Console C-27/18
Console C-27/18
Console C-27/18

Loading condition 1 (LC1)

Technical data:

Material type plate:
Material type profile rail:
Surface:

Material:

global safety coefficient y:

limitation torque M:

Reaction force F,,:
Reaction force F,:

S235JR, fy = 235 N/mm?
DCO01, fy = 160 N/mm?

galvanized
steel
1,35
36,74 Nm
0,82 kN
0,82 kN

Dimension plate:
Dimension profile rail:

67 x 35 x 4,0 mm
27 x 18 x 1,25 mm

02

Mg, Foyo Fgy0n LC1:upto L =630,5mm
LC2: upto L =3155mm
LC3: upto L =420,5mm
max. load
Length Load Load Load Weight Packing  Part-No.
situation1 situation 2 situation 3
L F1 F2 q0

[mm] [kN] [kN] [kN/m] [ka/pc.] [pes.]
157,5 0,47 0,23 2,94 0,159 25 18010158
210,0 0,35 0,17 1,66 0,190 25 18010210
262,5 0,28 0,14 1,06 0,222 25 18010263
315,0 0,23 0,12 0,74 0,253 25 18010315

Loading condition 2 (LC2)

Loading condition 3 (LC3)

Faz F1 Faz F2 Faz
Fax Fax FAX—;"
Fax Mo Fax Mo L Fay €— Ms

L2 oL
L
F1*L q0 * L2
F,,=F1 6= Fo=F2 | M;= F2*L F,,=90 "L =
2 2
Notice:

all loads refering to static loads

Phone +49 7944 64-0

'MEFR)

Fax +49 7944 64-37



Rail system 45

B Console C-profile 35/21/2,0 mm

02

Console C 35/21/2,0 mm
Profile slot at bottom side

Identification

Console C-35/21
Console C-35/21
Console C-35/21
Console C-35/21
Console C-35/21
Console C-35/21

Loading condition 1 (LC1)

Technical data:
Material type plate:
Material type profile rail:

Surface: galvanized

Material: steel

global safety coefficienty: 1,35

limitation torque M,: 93,86 Nm
Reaction force F,,: 1,71 kN
Reaction force F,: 1,71 kN

Mg, Fayo Fgyon LC1:upto L =630,0 mm
LC2:upto L =315,0 mm

LC3:upto L =472,5mm

"load limitation due to admissible bending L/150. Limitation torque M, and bearing strengths

S235JR, fy = 235 N/mm?
S250JR, fy = 250 N/mm?

Dimension plate:
Dimension profile rail:

Ax, © Bx

86 x40 x 5,0 mm
35x21x2,0mm

F, F_ not valid anymore

max. load
Length loading loading
condition 1 condition 2
L F1 F2
[mm] [kN] [kN]
157,5 1,19 0,60
210,0 0,89 0,45
262,5 0,72 0,36
315,0 0,60 0,30
420,0 0,45 0,19"
525,0 0,36 0,12"

Loading condition 2 (LC2)

loading

condition 3

q0
[kN/m]

7,57
4,26
2,72
1,89
1,06
0,62"

Loading condition 3 (LC3)

Weight Packing

[ka/pc.] [pcs.]
0,307 25
0,368 25
0,429 25
0,490 25
0,612 25
0,734 25

Faz F1 Faz F2 Faz
0

Fax Fax FAX—>(‘ 'mﬂq
Fax Mo Fax Ma L Fax €4— Mo

L/2 oL

L
F1*L . . q0 * L?
Fa=F1 | M= — F,=F2 | M = F2*L F,=q0*L | M,=
Notice:

all loads refering to static loads

Phone +49 7944 64-0

'MEFRA)

Fax +49 7944 64-37

Part-No.

18020158
18020210
18020263
18020315
18020420
18020525



Rail system 45

B Console C-profile 45/45/2,0 mm

S Technical data: galvanized / hot-dip galv
Material type plate: S355J2, fy = 355 N/mm? Dimension plate: 127 x 50 x 8,0 mm
Material type profile rail: S235JR, fy = 235 N/mm? Dimension profile rail: 45 x 45 x 2,0 mm"
Surface: galvanized /
hot-dip galvanized
Material: steel 02
Global safety coefficient y: 1,54
Limitation torque M;: 522 Nm
e Reaction force Fou 6,15 kN
Reaction force Fox: 6,15 kN
Console C 45/45/2,0 mm Mg, Faxo FxOn LC1:  upto = 1155 mm
LC2: upto = 525 mm
LC3: upto = 735 mm

" Console with dimension profile rail: 45 x 45 x 2,5 mm see page 12/9

?load limitation due to admissible bending L/150. Limitation torque M and bearing strengths

Ax, © Bx

F, F., notvalid anymore

Console C-45/45 - profile rail 45/45/2,0 galvanized
Max. load

Identification Loading Loading Loading Weight Packing Part-No.

Length condition 1 condition 2  condition 3

L F1 F2 q0

[mm] [kN] [kN] [kN/m] [kg/pc.]  [pcs.]
Console C-45/45 210,0 4,98 2,49 23,70 0,89 15 180450210
Console C-45/45 315,0 3,32 1,66 10,53 1,15 15 180450315
Console C-45/45 420,0 2,49 1,24 5,92 1,41 10 180450420
Console C-45/45 525,0 1,99 1,00 3,79 1,67 10 180450525
Console C-45/45 630,0 1,66 0,822 2,632 1,93 5 180450630
Console C-45/45 735,0 1,42 0,612 1,932 2,19 5 180450735
Console C-45/45 1050,0 1,00 0,30? 0,75? 2,96 5 180451050
Console C-45/45 - profile rail 45/45/2,0 hot-dip galv
Console C-45/45 315,0 3,32 1,66 10,53 1,24 15  180450315/fvz
Console C-45/45 525,0 1,99 1,00 3,79 1,81 10  180450525/fvz

Loading condition 1 (LC1)

Loading condition 2 (LC2)

all loads refer to static loads

Phone +49 7944 64-0

Loading condition 3 (LC3)

'MEFR)

Py .
FAZ F2 AZ
Fax 0
FAX FAX "' q
Fax Mo M (m
L2 Fax ° L Foxe— Me )
[ S
L
F1*L . . q0 * L2
Fo=F1 | Mo= — Fo=F2 [ My= F2°L Fa=a0L | M= —
Remark:

Fax +49 7944 64-37



Rail system 45

B Console C-profile 45/45/2,0 mm, plate horizontal

02

Material:
Surface:

Material type profile rail:
Material type plate:

Global safety coefficient y:

Technical data: galvanized

S355J2, fy = 355 N/mm?
S235JR, fy = 235 N/mm?

steel
galvanized
1,35

Dimension plate: 127 x 50 x 8,0 mm

Dimension profile rail: 45 x 45 x 2,0 mm"

" Console with dimension profile rail: 45 x 45 x 2,5 mm see page 12/9

Console C 45/45/2,0 horizontal

Identification

Console C-45/45
Console C-45/45
Console C-45/45
Console C-45/45

Loading condition 1 (LC1)

F1

b

L/2
L

Remark:

P

Length

[mm]

210,0
315,0
420,0
525,0

Max. load
Loading Loading
condition 1 condition 2
F1 F2

[kN] [kN]
3,68 1,84
2,45 1,23
1,84 0,92
1,47 0,74

Loading condition 2 (LC2)

—

all loads refer to static loads

Phone +49 7944 64-0

Loading
condition 3
q0
[kN/m]

17,52
7,78
4,38
2,80

Weight  Packing

[ka/pc]  [pcs]

0,89 15
1,15 15
1,41 10
1,67 10

Loading condition 3 (LC3)

q0

[[[[[[[]]]

L

'MEFRA)

Fax +49 7944 64-37

Part-No.

180460210
180460315
180460420
180460525



B Console C-profile 45/60/3,0 mm

Rail system 45

Console C 45/60/3,0 mm

Identification

Console C-45/60
Console C-45/60
Console C-45/60
Console C-45/60

Loading condition 1 (LC1)

Technical data:
Material type plate:
Material type profile rail:
Surface:

Material:

Global safety coefficient y:

Limitation torquet M:

Reaction force Fu

Reaction force Fox:

Mg, Foyo Fgy0n LC1:
LC2:
LC3:

"load limitation due to admissible bending L/150.

S235JR, fy = 235 N/mm?
S235JR, fy = 235 N/mm?

galvanized
steel
1,35

Dimension plate:
Dimension profile rail:

1144,44 Nm
11,44 kN
11,44 kN

upto L
upto L
upto L

Limitation torque M and bearing strengths F,

1155 mm
630 mm
840 mm

F

% | Bx

138 x 55 x 12,0 mm

45 x 60 x 3,0 mm

02

not valid anymore

Max. load
Loading Loading
Length condition 1 condition 2
L F1 F2
[mm] [kN] [kN]
525,0 4,36 2,18
630,0 3,63 1,82
735,0 3,1 1,45
840,0 2,72 1,11

Loading condition 2 (LC2)

Loading Weight Packing Part-No.
condition 3
q0

[kN/m] [ka/pc.]  [pcs.]

8,30 2,81 5 18050525
5,77 3,23 5 18050630
4,24 3,66 5 18050735
3,24 4,08 5 18050840

Loading condition 3 (LC3)

Faz F1 Faz F2 Faz
0
Fax Fax FAX—F" d
Fax Mo Fox Mq L Fox 4— Mo
L/2 SO S
L
F1°L . . o’
F,=F1 | M= F,=F2 [M = F2*L F,,=q0*L o=
2 2
Remark:

all loads refer to static loads

Phone +49 7944 64-0

'MEFR)

Fax +49 7944 64-37



Rail system 45

B Double console C-profile 45/52/1,5 mm

02

Double console C 45/52/1,5

Identification

Console C-45/52 D
Console C-45/52 D
Console C-45/52 D
Console C-45/52 D

Loading condition 1 (LC1)

Technical data:
Material type plate:
Material type profile rail:

S235JR, fy = 235 N/mm? Dimension plate:
S235JR, fy = 235 N/mm? Dimension profile rail:

130 x 50 x 8,0 mm
45 x 52 x 1,5 mm

Surface: galvanized
Material: steel
Global safety coefficient y: 1,35
Limitation torquet M 461,54 Nm
Reaction force F. 5,31 kN
Reaction force Fox 5,31 kN
Mg, Foy Fgyoon LC1: upto L = 1155 mm
LC2: upto L = 735 mm
LC3: upto L = 945 mm
Max. load
Loading Loading Loading Weight Packing Part-No.
Length condition 1 condition 2  condition 3
L F1 F2 q0
[mm] [kN] [kN] [kN/m] [kg/pc.] [pcs.]
315,0 2,93 1,47 9,30 1,22 15 18070315
420,0 2,20 1,10 5,23 1,50 10 18070420
525,0 1,76 0,88 3,35 1,78 10 18070525
630,0 1,47 0,73 2,33 2,07 5 18070630

Loading condition 2 (LC2)

Loading condition 3 (LC3)

Faz F1 Faz F2 Faz
0
Fix Fac Fux d
Fox Mo Fax Me L Fex Ms
L2 L
L
F1rL \ . oL
Fa=F1 | Moz — Fo=F2 [M = F2*L Fo=d0*L | M,=
Remark:

all loads refer to static loads

Phone +49 7944 64-0

'MEFRA)

Fax +49 7944 64-37



B Double console C-profile 45/90/2,0 mm

Technical data: galvanized / hot-dip galv

Material: steel Dimension plate: 160 x 55 x 12,0 mm
Material type plate: S235JR Dimension profile rail: 45 x 90 x 2,0 mm
Material type profile rail: S235JR

Surface: galvanized / hot-dip galvanized

Global safety coefficienty: 1,54 02
Limitation torquet M,: 1564,12 Nm

Reaction force Fo 13,03 kN

Reaction force Fox: 13,03 kN

M., F,.. Fgon LC1: upto =1155mm

LC2: upto =1155mm
LC3: uptto =1155 mm

galvanized
Max. load
Identification Loading Loading Loading Weight Packing Part-No.
Length condition 1 condition 2  condition 3
L F1 F2 q0
[mm] [kN] [kN] [KN/m] [kg/pc.] [pcs.]
Console C-45/90 D 630,0 4,97 2,48 7,88 3,90 5 180900630
Console C-45/90 D 735,0 4,26 213 5,79 4,42 5 180900735
Console C-45/90 D 840,0 3,72 1,86 4,43 4,94 5 180900840
Console C-45/90 D 945,0 3,31 1,66 3,50 5,46 5 180900945
Console C-45/90 D 1050,0 2,98 1,49 2,84 5,98 5 180901050

Console C-45/90 D 630,0 4,97 2,48 7,88 4,19 5 180900630/fvz
Console C-45/90 D 840,0 3,72 1,86 4,43 5,32 5 180900840/fvz
Loading condition 1 (LC1) Loading condition 2 (LC2) Loading condition 3 (LC3)
Faz F1 Faz F2 Faz
0
FAX FAX FAX_"' q

Fax Fax Mo L Fox €— Mg
L2 oL,
L
F1*L . . q0 * L2
F,=F1 | M;= T F,=F2 | M,= F2*L F,,=q0"L M, = >
Remark:

all loads refer to static loads

2019 Phone +49 7944 64-0 m Fax +49 7944 64-37 2/53



Rail system 45

02

B Brace 45°

14,75

-

13x175

@ 2013

-

4735

Brace 45° short

Brace 45° long

Specification:

Technical data:

Applications area: to increase the loading capacity Material: steel
of consoles and wall brackets Material type: S235JR
Surface: galvanized
Identification max. load (pressure) Weight Packing Part-No.
FZ
[kN] [kg/pc.] [pcs.]
Brace 45° short 11,5 0,68 25 0815101
Brace 45° long 10,0 2,07 1 0815102
B Adapter angle
]
58
]
Adapter angle Mounting example
Specification: Technical data:
Applications area: angle for lateral bracing of consoles Material: steel
Material type: S235JR
Surface: galvanized
scope of delivery adapter angle: 3 x hexagon screws M12 x 25
1 x 2-hole tooth plate
1 x washer 13 x 24 x 2,5
1x nut M12
* Loads do refer to components, not to connections
Adapter angle for braces 45°
Identification max. load Weight Packing Part-No.
zul
[kN] [kg/pc.] [pos.]
Adapter angle 10,0 0,59 5 08151500

Phone +49 7944 64-0

Fax +49 7944 64-37



B Girder connection vertical

Girder connection vertical

Typ D Il

Typ D IV

Rail system 45

02

Specification:
Applications area:

Recommended accessory:

Mounting instruction:

vertical clamping connection
of profile rails at steel girder

2 x guide cleat

1 x threaded rod
2 x nut

2 x washer

Technical data:
Material:
Material type:

Surface
- Clamps:

- Screw connection:

steel
S235JR (clamps)

hot-dip galv.
zinc-nickel

fix buttstraps on load anticipated side. Can be combined with rail system 45. Screwing of profile rail on buttstrap of
guide cleat thru profile base with 2 screws M12 x 25, washers and threaded square plates or tooth plate

Identification Clamping-  Clamping- Threaded Tightening Max. load Weight Packing Part-No.
thickness range rod torque
Flange Flange Fy F, F,
[mm] [mm] [mm] [Nm] [kN]  [kN]  [kN] [kg/set] [pcs.]
Typ DI 8-15 100-220 M12 x 310 64 4,0 4,0 4,0 1,14 1 08146103
Typ DIV 13-20 110-360 M16 x 500 64 4,0 4,0 4,0 2,05 1 08146104
“,X’ mounting recommendation see chapter 15
B Clamping claw
) Specification: Technical data:
Profile rail type: C-profile rail 45/45 Material: steel
Application area: for mounting of Material type: ~ S235JR
C-profile rail 45/45 on T-girder Surface: galvanized
Clamping claw
Identification max. load tightening torque max. Weight Packing Part-No.
with 2 clamping claws clamping thickness
FZ
[kN] [Nm] [mm] [kg/pc.] [pcs.]
Clamping claw 45/45 6,00 8 17 0,336 50 08165071

Phone +49 7944 64-0

Fax +49 7944 64-37



Rail system 45

B Clamping claw (set) steel

Specification: Technical data:
Profile rail type: rail system 35, 36, 45, Stex 35 Material: steel
Application area: for mounting of Material type: ~ S235JR
C-profile rail on steel girder Surface: galvanized
02 Assembly kit consisting of:
2 clamping claws
2 threaded bolts
4 hexagon nuts
2 perforated plates
2 washers DIN 7089
Clamping claw (set) steel
Identification threaded pin max. max. Weight Packing  Part-No.
profile height clamping thickness
[mm] [mm] [mm] [kg/set] [sets]
Clamping claw (set) steel 35 + 36 M10 x 110 42 26 0,549 20 0814595
Clamping claw (set) steel 45 M12 x 130 60 26 0,922 10 0819527
B Clamping claw
Specification: Technical data:
without accessories Material: steel
Material type: ~ S235JR
Surface: galvanized"
" Components for outdoor application also available with Zinc-Nickel-coating
(corrosion-protection class C3 acc. to ISO 9223). Delivery time on demand!
2 loads refering to component, not to connection
Clamping claw
Identification Dimension  suitable for  tightening torque max. load ? B Weight Packing Part-No.
@ xL[mm] threaded rod [Nm] [kN] [mm] [ka/pc.] [pcs.]
Clamping claws 12x 18 M10 5 6,7 35 0,170 50 0814591
Clamping claws 14x18 M12 5 8,2 50 0,246 50 0816515
Clamping claws 218 M16 10 11,9 50 0,243 25 0819519
M Rail clamp
Specification: Technical data:
Profile rail type: rail system 35/21, 36/40, 45/45, Material type: St 44-2
Stex 35/35, 35/42 Surface: galvanized
Application area: for mounting the hexagonal nut: M12, SW19

Assembly instruction:

C-profile rail on steel girder
pre-stressing 8 Nm

requiring counter nuts, if
necessary

max. clamping thickness 23 mm

hexagonal screw:

M12x50, SW19
with cup point

Rail clamp
Identification max. load Weight Packing Part-No.
[kN] [kg/pc.] [pcs.]
Rail clamp 5,0 0,226 20 0816477

Phone +49 7944 64-0

'MEFRA)

Fax +49 7944 64-37




B Clamping bow

02

Clamping bow M8 35 + 36 Clamping bow M10 45/60 Clamping bow M12 45/150
Specification: Clamping bow consisting of: Technical data:
Profile rail type: rail system 35, 36, 45, Stex 35, 36 1 U-bolt pipe hanger Material: steel
Application area: for mounting of C-profile rail 1 tensioning bracket Material type: St 36 FK 4.6
on steel girder 2 nuts DIN 4032 Surface: galvanized

2 serrated lock washer

Remark: -in case of horizontal mounting of pipes, the maximum loads of the clamping bow can differ to quoted loads due
to torque of lever arm
- per anchorage point two clamping bows should be plugged in
- application loads refer to clamping bow
- application loads of C-profile rail should be noticed

Suitable for profile rail 35, 36 and STEX 35

Identification recommended max. recommended max. Weight Packing  Part-No.
L B1 tighteningtorque B2  clamping thickness load
[mm]  [mm] [Nm] [mm] [mm] [kN]  [kg/pc.] [pcs.]
Clamping bow M8 35 + 36 100 48 8 70 26 3,5 0,307 20 0816710

Suitable for profile rail 45/26, 45/45, 45/60
Clamping bow M10 45/60 100 56 15 80 26 4,0 0,401 20 0816720

Suitable for profile rail 45/75, 45/90
Clamping bow M10 45/90 140 56 15 80 26 4,0 0,440 20 0816730

Suitable for profile rail 45/75, 45/90
Clamping bow M12 45/90 140 59 30 100 29 7,0 0,749 20 08167401

Suitable for profile rail 45/120, 45/150
Clamping bow M12 45/150 210 59 30 100 29 7,0 0,831 20 08167501

2019 Phone +49 7944 64-0 m Fax +49 7944 64-37 2/57



B Girder clamping

Max. load on girders at a length of <400 mm
Identification in combination with max. load
profile rail F,
[kN]
Girder clamping 35 35/21 20
Girder clamping 35 Stex 35/35 2,0
Girder clamping 35 36/40, Stex 35/42 3,0
Girder clamping L 45 45/45 3,0

Girder clamping 35

Girder clamping L 45

Specification:
Profile rail type:
Application area:

Assembly instruction:

Recommended accessory:

Technical data:

35/21, 36/40, Stex 35/35, Stex 35/42, 45/45 Material: steel
for clamped fixation Material type: S235JR
at steel girder Surface: galvanized

(IPE 120 or U 160)

tightening torque min. 25 Nm. For a rail fastening two girder clampings are required.
threaded square plate 35x30 (Beam clamping device L 45)

threaded square plate 30x22 (Beam clamping device 35)

Identification

Girder clamping 35
Girder clamping L 45

for profile rail Weight Packing Part-No.
[kg/pc.] [pcs.]
35/21, 36/40, Stex 35/35, Stex 35/42 0,301 20 9999695
45/45 0,519 20 08163909

B Wedge nut for ceiling

Assembly instruction:

lllustration a): single mounting

1 wedge nut for ceiling

I A 1 threaded bolt M8 or M10 (min. length 50 mm)
¥ ll 1 washer DIN 7089 (8,4 or 10,5) M8 or M10

1 hexagon nut M8 or M10

|
{8
o e

lllustration b): mounting of ceiling holder

1 holder for C-profile rail. plate 200 x 200

4 wedge nut for ceiling (M8 or M10)

4 hexagon screw, galvanized (M8 x 50 or M10 x 50)

Wedge nut for ceiling

2 washer DIN 7089 (8,4 or 10,5)

Fixed under ceiling

Specification:
Application area:

Technical data:

for ceiling 38 / 51 x 150 Material: GTW
type ,HOLORIB" and ,HOESCH" Surface: galvanized

* Maximum load of HOLORIB-ceiling (system: Montana) is 9 kN/m? and max.4 fixing points per m2.

Identification max. load* Weight Packing Part-No.
[kN] [kg/pc.] [pcs.]

Wedge nut, female thread M8 1,50 0,022 100 0819715

Wedge nut, female thread M10 2,25 0,020 100 0819722

Phone +49 7944 64-0 m Fax +49 7944 64-37



02

() WW/N 0000LZ = 3 Anonseld jo sjnpow T

b7 paziueaeb dip-joy :Asy . 5 ) L — _ -
@ peziuenjeb-aid :Aqy 00c/1= "¢ uIpusq "xew

= fuodond pg'L= X Kejes ﬂ

o HocoIe saBHRS 0659 Z9-1vy 0} Buipiodde uopenojed J

18T | 16C | 98} | 8¢} | G50 | £5'0 | ¥0 | €0 L€0 [ 2€0 | LL'O | 2L0 0009 ~
20'c | TT'€ | €} | ¥SL | €9°0 | ¥9°0 | ¥S0 | 20 9¢'0 | 280 | ¥L0 | SLO 0525 q4_u
8L'e | gv'e | L2V | €2V | 2L'0 | €2'0 | L9'0 | 8¥'0 Zv'o | €70 | 210 | 810 00SS ©
9g'c | 9'c | 26} | €6} | T80 | €80 | 69°0 | ¥S0 6v'0 | S0 | 120 | 220 052S Wm
GG'e | I8¢ | GL'C | ZL'Z | €60 | ¥6°0 | 820 | 190 960 | 260 | sZ°0 | 92°0 0005 N~
9/c | €0V | 28T | ¥¥'Z | 90°L | L0V | 68°0 | 20 |LLO| ¥9'0 | GO0 | €0 | €0 | LL'O|2LO]| LLO 0S.¥ 2
v | 82V | 28T | LT |12 | €2L |20k | 640 |€LO| ¥L'O | G20 | GE'0 | 980 | ¥LO | ¥LO| ELO| LLO 00S¥ w
9zZ'v | 9G'v | 69'C | 68'C | 6EL | ¥L | 9L'L | 16°0 |9L'0| 98°0 | 280 | L¥O | 2¥'0 | ZL'O|LL'O|9L0[€ELO 0szy L
GGy | 98'v | 88'c | 60'C | 9L | L9V | ¥E'L | ¥O'L | 20 | 660 | L | 6V0|6¥0| 20 |L20|6L0[SLO 0L'0 000%
88V | LZ'G | L'e | 1e'c | G8L | 98°L | GG} | LZ'L |¥20| GLL | 9L | 2G'0 | 8G°0 | G20 | G20 | €20 [8L0 0L‘0|zZL'0 0G.€
GZ'S | 19'G | ¥€' | /G'c | G0C | ZL'T | 8L | ¥} |820|GEL | 9€L | 89°0 | 69°0 | €0 | €0 |Z2'0 |20 €L'o 710 00S€
89'G | L0'9 | 29'c | 98'c | 22T | 8€'C | 16} | ¥S'L |¥E0| 6SL | 9L | 180 | 18°0 |9€'0 | ££'0 | ££°0 | 920 9L'0 | L0 062¢
81'9 | 659 | ¥6'C | LZ'V | C¥'C | 6G'C | GL'C | 89'L | L¥'O| €8'L | 6L | L6'0 | 86°0 |¥¥'O |¥¥O| ¥'O | LEOD 0zZ'0| L2'0 000€
119 | TT'L | 28V | L9V | 99T | ¥8'C | 98T | ¥8'} | LSO | LO'C | SLZ | 8LL | 8LL | bSO |¥S0 |80 |80 GZ'0|9z'0| L0 0612
V'L | 96'L | L'V | 60'G | ¥6°C | YL'E | LO'C | €0'C | 290 | 22T | L€T | v¥'L | SY'L | 29°0 | 290 | 9'0 |Z¥'0|0LO|LED|2E0 | VLD 00SZ
€8 | /88 | 2€'G | 89'G | 62'C | S'C | 16T | L2'C |8L0 | 8¥'T | S9CT | €9 | ¥LL | ¥8°0 | ¥8°0 | G20 |60 |€L'0O|6E0| YO |8LO 0522
¥'6 | 10°0L| LOQ | Lb'O | LL'E | 96°C | 82'€ | 96T | L | 8T |66C|S8'L | L6°L |80°L |80°L | 96°0 | G20 |LL'0|0G0|1LG0|€20 0002
9.'0L |9¥'LL | 68°9 | ¥E'L | 92V | ¥S'v | LL'€ | €6'C |SL'L | 22'C | e¥'e | 2L'e | 92'C | €1 |6€°L | 92') | 66°0 | 220|990 | 90| €0 [ZL0 0G.1
6SCL | ¥'CL | 90°8 | 6S'8 | 86V | L€'G | L¥'V | €¥'C | SE'L | L2'€ | LO'Y | 6¥'C | S9'C | €6} | €9°L [ 8FL |9L°L | LE0|G80| 80 [L¥O|LLD 0051
CLGL| L'OL | 26 |2E0L| 9 |8e9| €6 |[€ELYy 2oL | eS| €8y | € |6LC|¥8L|96°)|8LL| VL |SYO|LOL | 260 [#S0|S20|€ELO 0521
229l |TTOL|SLZL|€6'TL| LS. | 8 | V99 | LL'S | 0| 89'G | S0'9 | 92'c | ¥ |1€T|9¥'T|€2T|9L) |69°0]82L |1L2L[89°0| v'O | 20 |SLO 0001
229l | 229l | S2T'GL | ST'GL |£00L |89°0L | 988 | 6'0 |2LCT| 6G'L | L0'8 | 20'S | ¥E'S | 60°C | 82'C | 86°C | ¥EC | 260 | LLL |29V | 60 | 29°0 | ¥E0 | 920 0S.
229l | 22'9lL | SZ'SL [GZ'GL | 20°GL |26'GL | €°CL | 628 |60V |6ELL [2LZL| ¥S'L | 208 | vV | €6'V | Y'Yy | 2S'E | 8€'L | 462 | €T | SE'L |26'0 | LSO | L¥'O | €L 00S
229l | 2Z'9L | ST'GL | GZ'GL €€ L1 |26'GL | 8L | 68 | ¥6°L | 8'CZ | 922 |60'GL |G0'9L | 826 | 28'6 | 96'8 | ¥0°L | 922 |GL'G| 98 | LL'Z | S8'L [20°L | 180|920 052 M

[ww] %
INs] | INoT | INOT | Il | INIT | O] | INS | ONotD | O | Il | ONtD | ONiT | O] | DT | Ot | O | INT | Ot | END | ONT | Ot | O | DNt | It | I “ m
AS} | AQy | AS} | AQY | AS} | AQY | AQY | AQY | AQY | AS} | AQY | AS} | AQY | AS} | AQY | AQY | AQY | AGY | AGY | AQY | AQY | AQY | AQY | AGY | AGY | BOBWING %
2 2|8 /8188|888 5 5 2|8 |2 a(2|8|alalala/s|a|3]s g
S 8|88 /8 8/8 8|8/ 3|d|g|8|&|&|&|& B|& R|&|2 B|a|a o
I I O T T O I I - I~ S (S B Bl IR S - = B S - IR S
o o o o o o o) o o) o

(paYj003) Gty wvyshs G¢ wayshg
4 X | 10} speo] wnuwixew :paziueajeb ‘sjies 9j10.id Jo speo]

2019



paziueaeb dip-joy :AS}
paziueajeb-aid :AqQy

Auadoud aseung

WW/N 000012 =
00¢/1 =
ve'L =

9-669 Z9-1vy 03} Buipioooe uonenojed

3 Ajonse|s jo sjnpouwl

nz

Q
X

Buipuaq "xew

Aejes

5

€M

al % e

g

El

0L | L2V | 08°0 | 18°0 |2€'0|€€'0 | 820|220 8L'0 | 610 0009
88°L | 68°L | 60 | 160 | Z€£°0|8€'0|2€0| G20 120 | 220 0518
80 | 60 | 1O} | 20'L |2¥'0 | €¥'0 | 9€°0 | 82°0 GZ'0 | 920 |0L'0| LL'O 00SS
Le2 | 2€Z | €LV | ¥LL | 8Y'0 | 6Y0 | LF0|2E0 620 | 62°0 |2L'0| €L°0 0525
8GC | 66T | 22} | 82'} | SS'0 | 950 | 9¥°0 | 9€°0 €60 | ¥€0 |SL'0| Sk 0005
28T | 6C | e¥'l | ¥¥'L | €9'0|€9'0 | €S0 | L0 8¢'0 | 6£0 |8L'0| 8L°0 0S.¥
€ | 1Z'e | 19') | 29'V | 120 |2L'0| 9'0 | Z+'0 v¥'o | ¥¥'0 | L2'0| L2'0 00S¥
6L'e | Zv'e | €8} | ¥8'L | 28°0|€8'0 | 690 | ¥S0|0L'O| LSO | LSO |#2'0| G20 |0L'0|0LO|0L'O 0szy
Lb'e | 69 | L' | L' |¥6°0|S6°0|62°0|1L9°0|2L0| 850 | 6S0 |62°0| 620 |2ZL0O|ELO| LLO 000¥
99'c | 16 | 282 | L¥'C | 60°) | 60°L | 60| 20| ¥LO| 89°0 | 89°0 | ¥E0 | ¥EO |SLO|SLO | vLO | LLO 0S.€
¥6'c | L2V | G'C | 89'C |22') | 12'1|90°) |28'0|LL'0| 60| 80 | ¥'0O | ¥O |8L°0|8L0[9L0]€ELD 00S€
9zZ'v | SS'v | LLC | 6T |6¥'L|6¥'L|¥2L |26'0| 20 | ¥6'0 | ¥6'0 |8F'0 | 8Y'0 | 120|220 [6L°0 | SLO 0L'0 [0LO 0sz¢
Yo'y | G6'V | 96'C | 9L'C |92V | L'V | L¥L | ¥LL | G20 | LL'L | 2L | 2G°0 | G0 |92°0 |92°0 [ €20 | 6L°0 zL'o|zL'o 000€
80'G | V'S | ¥2'S | 9¥'S | 2 |2L'T|9L) |Z€L| €0 | bE'L | ¥EL |69°0| L0 |2€0|2E0|620 | €20 GL'0 [GL'0 0§.2
L9'G | 16'G | 8G'€ | Z8'¢ | 122 |9£'C | 96°) | 2S'L | Z€0 | €9°) | ¥9'L | S8°0 | G8'0 |6£°0 | ¥'0O |GE0 | 820 8L0 [6L0 00sZ
GZ'9 | 99'9 | 66'C | 92V | L¥'C|€9C|8LC| L)L |9v'0| 98°L | 66°L |90°L | 90} |6+°0 | SO |¥¥0 | GEO €20 [ ¥2'0 | LL'O 052z
GO, | LG'L | LS'V | L8'V |6L'C|L6'C|9¥'C |2T6°)L |6G0| L'C | ¥2'T |SE'L | 98} | €90 | ¥9'0 [ 950 | ¥¥'0 | L'O |62'0| €0 |¥LO 0002
208 | LL'8 | LL'G | LG'G |6L'E| v'e |€8'C| C'C |8L'0| 2¥'c | LG'C |6S'L | Ll |¥8'0|¥80|¥L'0| 650 [€LO[6E0| ¥'0 |8LD 0811
LL'8 | LL'8 | S0'9 | ¥¥'9 | L€ |86'C | LE'C | 8G'C|LO'L | €8°C | LO'E |28°L | 66°L [GL'L [GL'L|20°L| 80 |8L°0]|€S0|¥S0|¥20]|0L0 005}
LL'8 | LL'8 | 82°L | €92 | §'% |62V |86'C| L'€ |22'L| ¥'€ | 29'C |G2T| 6ET |8V | L¥L | bE'L | GO} | 220|220 |€L0|SE0|SLO 0s2Z1
LL'8 | LL'8 | €9°2 | €9°2 |¥9'G| 9 |86V |88'c|€S'L| 9TV | ¥S'V |28'C| € |€L'V|¥8')[89°L| 2L |ZH0]|960| 160 |LG0 | P20 [ 2CLO 0001}
LL'8 | LL'8 | €9°L | €9°L | €S2 |96'L|G9'9| v'v | ¥0'C | 69'G | 90°9 | L2'€ | LOY |CET|9¥'C | ve'T| 92} | 69062} | LTL | 890 |2r0|LE0|9L0 052
LL'8 | LL'8 | €9°L | €92 | L9'8 | 962 | ¥'L | v'v | L0'C| GS'8 | 60'6 | 99'G | 20'Q |8¥'E | L'€ |9g'C| ¥9'C | ¥O'L | €6°L | 28} | 20} [ 69°0 [ 8€'0| LE0 | 0L'O 00S
LL'8 | LL'8 | €9°L | €9°L | 298 | 96°L | ¥'L | v'v | 26'C| L'ZL | 2'8L |ZELL|¥OCL | 969 | YL | 22'9| 82'G | 202 | 98'C | G9'c | €0'C | 6L [92°0| 190 | 20 052
[ww]
NS | INAT | INoIT | IS | ONHD | ONT | ISt | ONtD | ONIT | ONIT | ONT | ONoIT | O | I | ONtD | ONT | ONT | Ot | DT | It | END | N | It | I | Nt “
AS} | Ad} | AS} | AQY | AS} | AQ) | AQY | AGY | AQY | AS} | AGY | AS} | A} | AS} | AQY | A} | AQY | AGY | AGY | AQ) | AQY | AGY | AGY | AG) | AGY | BOBLING
Sl 818 2|88 8 818 a8 5|8 |5 |8 |8 8|[2[8|2|8/8/8|38
€ 8|8 8 8/ g/8|s/8|d|d|8|g|&|la| &|&| B8 R|&a 2| 8|2|=a
O - - B e R O I T O B I S I I B I I Bl - B S -~ I W (-
o o o o O | o | o | oO| O o
(poYj003) gt wayshs G¢ wayshg

4 X Z 10} speo] wnuwixew :paziueAjeb ‘sjiel ajiyoid jo speo

02

N~
?
<
©
<
<
(o]
N~
(o))
<
+
X
@
L

<
<
©
<
<
(o))
N~
(o))
<
+
(O]
c
o
£
o




02

O JWW/N 0000LZ = 3 Anonsele jo ejnpowl T

7 paziueAeb dip-joy :As} o ) AANNANEANNA

W, paziueajeb-aid :AqQy 00e/1= "¢ Buipuag xew

= ps'L= X Risjes @ ﬁ @

o’ Auadoud aoejng

0-669 Z9-1vy 03} Buipioaoe uonenojed 1 4 1
ZZT'L | €2°L | 8S'0 | 60 | €20 | ¥2'0| 020|910 €L'o | vi'o 0009 ~
Ge'L | 9€'L | G9'0 | §9'0 | 220 | 20| €2'0|8L0 9L'0 | 9L'0 062G q4_u
6v'L | GL | 2.0 | €L0| €0 |Le0|920]| 20 8L'0 | 810 0055 ©
99k | 29°L | 18'0 | Z8'0 | S€'0|SE'0| 620 | €20 12’0 | 120 052S Wm
8.'L | 98'L | 160 | 260 | ¥'0 | ¥'0 | €€°0| 920 ¥Z'0 | ¥2'0 | LL'0 | LL'O 000S N~
88‘'L | 20 | €0°} | €0'} | S¥'0 | 9¥'0|8ED| €0 12'0 | 820 | €L'0| €10 0S.¥ mfv
Z | vz | 9kh | 2L'L | 160|280 | €¥°0 | bEOD Ze'0 | 2€0 | SL'0 | SLO 00S¥ x
€L’z | 82'C | €'l | T€'L | 6S'0 | 650 |6Y0 | 6E0 9¢'0 | Z€'0 | 8L'0 | 8L'0 0szy w
8Z'C | e¥'C | ¥¥'L | 1S'L |89'0 | 890 | £6°0 | ¥¥'0 Zr'o | 2v'o | 120 | 120 000%
¥v'Z | 19'C | GS'} | 99°L |82'0 |6L'0 |G9°0 | LS'0 |0LO | 6+°0 | 60 | ¥2'0 | G20 | LL'O | LLO | OL'O 0§.€
€97 | 18 | 29°} | 62°L | 16°0 | 160 |90 [6S0 | 210 | 250 | 460 | 62°0 | 62°0 [€L'0 |ELO|2ZLO 00S¢€
¥8'C | ¥0'€ | 18} | €6} |20} | Z0°} | 68°0 |69°0 |GLO | 29°0 | 29°0 | ¥€0 | GE'O |9L°0 |9L°0 | ¥LO | LLO 0s2¢
60'c | €'¢ | 46} | LL'Z |12} |22} |G0°L |28'0 |8L'O| 80 | 80 | L¥'O | YO |6L0|6LO|LL'O|ELD 000€
68 | L9'€ | 912 | L€' | €€ |2¥'L [8L'L | 260|220 | 960 | 96'0 | SO | SO |€2'0|€20|120|9L0 LL'O | LLO 0S.2
v1'c | 86'€ | 6€'C | GG'C |Z¥'L | 2G°L [ LE'L |20V | 220 | LLL | ZL'L | L9'O | L9'0 | 8Z'0 |62°0 | S20 | 20 €L'o | Lo 00S2
L'y | v¥'Y | 99°C | ¥8'C |GV | GLL [9F'L |pLL | €€0 | Y2l | €€ | 92°0 | 92°0 | 9€°0 | 9€0 | 2€'0 | G20 L0 | ZL'0 0622
L'v | 10'G | LO'E | Lz'e |98} |86} | 9L |8Z'L |EF0| ¥L | G} | €6°0 | 60 |9¥'0 |9¥°0 | L¥'O | 2EO 120 | 22'0 [0L'0 0002
8€'G | LW'G | G¥'C | 29'C |€1'C | 22T |68} | L L | 9GS0 | LO'L | 2LL | 90°L | €LL | 90 | 90 | €50 [2v'0 | 0L |82'0 | 620 |€ELOD 0G.1
LW'S | LY'S | €0'F | €'V |6¥'C|99'C|Lg'C| 2L [89'0| 68'L | LO'C | SZ'L | €€°) | 220|280 |€L'0 850 | €L'0 [8E°0 | 650 |8LD 00S1
LS | L¥'G | G8'F | 60'G | € |6L'C|G9'C|20C|18'0| L2C | ek'e | SV | 9L |2Z6°0|860|68°0| L0 | 6L°0 | LSO |6¥'0|G20|LLO 0521
LS | L¥'G | 60°G | 60'G |92'€ | ¥ |Ze'c|6GC|20°L | ¥8'c | €0'C | 88'L | T |9L'L|€cL|2LL|880]| €0 |#9'0|L9°0|¥ED|LLD 0001
Lv'G | LP'S | 60°S | 60'G | 20'G | LE'S |E¥'y | €62 |9S°L | 8'C | ¥O'V | LG'C | 29T |GGV | ¥9°L | 6¥'L | L)L | 9¥'0 | 98°0 | L8O | S¥O | €0 |SLO]| LLO 062
LW'S | LY'S | 60'G | 60'G [84'G | LE'S | ¥6'Y | £6°C|S0T | L'S | 90'9 | L2'€ | OV | 2€C | LT | ¥2'T |94V | 690 |62°) | 22'L | 890 | 9+'0 | 920 | L0 00S o
L'S | L¥'S | 60'G | 60'G |8L'G | LE'S | ¥6'Y | €6°C |G9'C| v'LL |€L'TL| SS'L | €0'8 | ¥O'V | ¥6'Y | 8¥'V | 2S'E | 8€'L | 8S'C | ¥’ | 9€°) [€6°0 | LG'O| IO [ €LO 0S2 <
[wuw] <
N | IND | DN | DN | ONtD | ONST | It | ONtD | ONIT | DNIT | ONtD | INStD | ONt | It | ONtD | ONtT | O | INotD | DNAT | It | ENtD | INtT | It | ENeD | It “ m
AS} | A} | AS} | AQY | AS} | AQ) | AQ | AGY | ACY | AS} | AGY | AS} | AGY | AS) | AQY | Ad) | AQY | AGY | AGY | AQY | AGY | AGY | AGY | A | AGY | @OBMING %
1212 8|28/8\/8 88 5|5 |s/28 a|8|ala sla/z|g s al3|s 5
g 8|8 8 3/ 8/8|s/8|d|d|8|8|a|la|l&|& B(&g|R|g 2 8|22 £
|8 |5 |s|e|lals|lala S8 S8 5 DS |a|a|lS|als|[Bls|k!S
o o o o O | o | o | oO| O o
(peyyo0y) g weyshs G¢ wayshg
4 X € 10} Speoj] wnuwixew :paziueAjeb ‘sjieu ajiyoad jo speo

2019



WW/N 0000LZ = 3 Anonsele jo sjnpow 1
paziueajeb dip-joy :As} L

_ Iz .
paziueAjeb-aid :AQy 00c/1= "¢ Buipuaq xew

pg'h= % kiejes (N

9669 Z9-1vyd 03} Buipioooe uonjenoje)

Auadoud aseung

&
<
120 | 820 | €0 | Z€'0 | SL'O | GL'O | €L'0 | OL'O 0009 %
680 | 60 | €0 | €¥'0 | 8L°0 | 8L°0 | GL'O | ZLO 0L'0 | LLO 051§ S
€0t | ¥0'} | S0 | S0 | 120 | 220 | 8L'0 | 7LD €L'0 | €10 00SS W
Z'V | 121 | 650 | 660 | S2'0 | 920 | 120 | ZLO GL'0 | L0 0528 T
WL | L | 890 | 20 | €0 | LE0 | G20 | 20 8L'0 | 610 0005 s
6G'L | 99°L | 280 | €80 | 920 | €0 | €0 | ¥ zz'0 | 220 | 0L'0 | LLO 0S¥ L
8/°L | 6L | 86'0 | 66'0 | €40 | ¥¥'0 | 280 | 620 120 | 220 | €10 | €10 00S¥
L0C | GL'z | 8L'L | 8L'L | €6°0 | €50 | ¥¥'0 | S€0 €e'0 | €80 | 910 | 910 0gzy
82T | e¥'Z | €F'L | €F'L | Y90 | S9'0 | ¥S0 | 2¥0 ¥0 | ¥0 | 20 | 20 000¥
9'C | 82 | 9L | 9.} | 620 | 80 | 99°0 | 2SO0 |0OL'O| SO | SO | G20 | SZO | L0 | LL'O | OLO 0S.€
€ Lz'e | L6V | ¥0'C | 66°0 | 66°0 | 28°0 | ¥9'0 | €L0| 29'0 | 290 | LE'0 | 2E0 | ¥L'O | LD | €10 | OLO 008S€
G'c | eL'¢c | ezc | 8cT | ¢V | STV | ¥OL | 180 | ZL'O| 620 | 620 | ¥'O | ¥0 | 8L0|8LO|9LO|ELD 0gze
2Ly | vy | €92 | 182 | 9L | L9L | €€L | ¥O'L | 220 | LO'L | LO‘L | 250 | 250 | ¥20 | ¥20 | 120 | LD LL'O | L0 000€
26'v | 2G| vL'e | se'c | ¥6°L | 20T | 2LV | ¥E'L | €0 | €€') | €€ | 690 | 690 | 2€0 | 20 | 820 | 220 GL'0 | SL'0 0522
86'G | 2£'9 | 2¢8'c | L0V | G€C | LSC | 60T | €9'L | ¥'0 | 8L | 8L | €60 | €60 | €40 | €40 | 880 | €0 020 | 20 0052
L2, | V2L | €L | SO'S | 2¢6'C | TL'e | 6SC | 20T | 9S°0 | LZ'C | G€C | 8L | 62k | 90 | 90 | €50 | ¢¥'0 82'0 | 820 | €10 0522
LL'g | LL'8 | L0'9 | L¥'9 | LL'e | 96'C | 82'C | 95'C | 80 | 8C | 66'C | ¥8'L | §8‘L | 98'0 | 98'0 | 22'0 | 90 | €L'0 | O¥'0 | L¥O | 8LO 0002
/26 | /26 | 882 | 688 | 8% | 8L'G | €% | se'¢ | 121 | 89'c | ¢6'C | €¥'C | 6SZ | € | € | GLL | 160 | 20| 090 | 290 | 220 | LD 0S/1
Z8'0L | Z8'0L | ZL'OL | ZL'OL | ¥9'9 | 80'Z | 28'S | ISy | 8L | 20'G | G€'G | Z€'c | €§'C | ¥0O'CZ | 80'C | ¥8'L | G¥'L | €€°0 | 260 | 660 | ¥¥'0 | 8L°0 005}
86'CL | 86'CL | 2Tl | 2'CL | 696 | LZOL | 8F'8 | 99 | 9T | GZL | TLL | 6LV | L'G | ¥6T | €L'E|S8C | ¥eT| 850 | €9°L | ¥SGL | 940 | ZE0 |9L0]2LO 05z}
229l | TT'9L | GT'SL | ST'SL | 20'SL | 26'SL | L2'CL | 64'8 | L0 | 9S'LL | 60'CL | LS'L | 66°L | L9V | LB | O¥'V | LG'E | vLL | 95°C | ¥ | S€)L | ¥9°0 | 2E0 [ €T0 0001 o
€912 | €91z | €€'02 | €€'0Z | LL'€T | 22l | €46l | 2LVl | G2'L | 2T'0Z | 2S'le | L€'l | €L | 22’8 | GL'8 | S6'L | ¥2'9 | v¥'C | 95V | LE'Y | ¥'Z | ¢S’} | 920650 | 120 05/ M
vv'2e | ¥¥'2E | 6¥'0€ | 67°0S | 99'FE | €8°LE | 6G6C | 8G°LL |88'GL | 9G'SY | 8¥'8F | ¥L'OE | L0°ZE |€S'8) |2L'6L| 6°LL |90'VL| 0S'S |Z2°0L| 2'6 | ¥'S | 89'c | 20T | L9} | 280 005 <
88'v9 | 88'V9 | 26'09 | 26°09 | 2€'69 | GO'€9 | LL6S | 9L'GE |9L°LE|28TLL|LE'€8L|29°0ZL (8€E'8CL| V. |¥6'8L|L9°LL| €9G |20'2Z| €L Ly |G8'8E | LOLZ|GL VL | L'8 | V9|80 062 m
[wuw] e
[w/Nof] | TNt | wynsD | TN | TNl | TNot] | TNl | Tyt | TNot] | ToN] | TNt | TNt | Tyt | TuuNotD | oyt | /s | TN | TNt | oyl | N | TN | TNt | TN TNt | Twayns] “ m
AS} | A} | AS} | AQ} | AS} | AQY | AQ} | A} | AQY | AS} | AQ} | AS} | AGQY | AS} | AQY | AGY | A} | AGY | AGY | AQ) | AQ) | AQ) | AGY | AQ) | AQY | BOBUNG m
& b b b 'S 'S 'S IS IS o
2212 8/8/¢g ¢|g/g| s & &|& & & s|ls s|ls s 8 8 8|38
S ¢/ 8 /8|88 /2/8/s|/8 2|2 | e8|g|&|&|& & 8|8 &8 & % 8|z 3
o I O O = I - - - - B N B S S e B I B - O A R
o o o o o o o o o o
(payjo03) G wayshs gg woyshg
peo| pajnquisip 10j speoj winwixew :paziueAjeb ‘sjies ajijoid Jo speo

02



T

X X X X X X X X X X 0-659 Z9-1vy siiew Ajenb vy

sytew Anpijenb/sjeaosddy

68'L 16k 98'L 08t vl 'L 'L 'l SLY ¥8'0 wo elldUl JO snipey

gz'e se'e [t 08'L Sl G.'L Gl' Sl ge'l oL'L wo ddUe)SIp plofusy

€Ly L't 62'c 88'C [£5%4 9z'L 19'L 18'0 19'0 050 sWo SIXe-Z snjnpow uoioes

59'0L se'e Sl's 8L's S0'v Lz'e €8'C €6l 06'0 §S'0 yWo asindwi Jejnbue [exy

SIXe-ZZ sanjeA JisiisjoeIeyd

29l ¥9'L 860 6L L el 9.0 ¥.'0 S9°0 8€'0 wd K elldUl JO snipey

92 122 9z'L 10 €22 8/'L vLL €0} $6'0 6L°1 wo ) BdUeJSIp plolusd

vz'e €22 ye'L €6'L 16'L zL 96'0 16'0 S8'0 L'o wd ) 9OUE)SIP plojudy

Sh'e 12z 90'L 86'L 181 ¥0'L 120 6€'0 LE'0 oL'o swo M sninpow uonoss

6.L'L L' vl oL'y L'y 98l 080 or'o 620 Lo yWO >_ osindui Jenbue [exy

SIXe-AA S8n|eA onsLejoeIeyd

- - - - - - - - - - ww o a0y pajebuole Jajowelp UoISusIXg

0'S¥ X 0'vL 0'SY X 0'vL 0'SY X 0'vL Sy X0'cl 0'GL XG'8 0'GL XG'g G'8E X G'0L 0'GL XG'8 G'8€ X G'0L 0'8L X0'0L wuw X ww Ix'p wbua x sjoy payebuole ssjewelq

o'l o'yl o'yl o'cl §'0L+S'8 S'0L+G'8 - §'0L+6'8 - - ww P 9J0y punol Jspwelq

0'soL 0'soL 0's0L 0'soL 0'se 0'se 528 0'se §'zs 0'0S ww ] uolsuswip puo

0'ze 0'ze 0'ce 024 0'ze o'tz 0'ZL 0'le o'vL soL ww q Uipim joIs

86'C 62'C 6L €L'e 66'L €0'L ov'L ¥.'0 89'0 8.'0 W0 v (11ed ajyo.d 8y} Jo UOROBS SS0IO JSED]) ALY

0'9 0'9 0'9 09 0'9 0'c 0'9 0'c - - w 9 Z wbus| Aiaallea

0z 0z (k4 0z 0z 0z (04 0z 0z (4 w I | wbus) Aientieg

- - - - - - - - - - w/By 1175} FRIETTLTJETYY

- - - - - - - - - - AWU/N % nwiy onsel3

- - - - - - - - - 2-G2001 N3 NI 03 Buipiodoe |eliajepy

191 OSI N3 NI 03 Buipiodoe paziueajeb dip-joy aoepng

sv'z 68°L ve'L S8t €9'l €0'} 9L ¥9'0 090 8.0 wy/By w/o Jejew AYBIam

0se [01°74 (0°74 0se 0S¢ (0°74 0se [°14 (0°74 0se WW/N bl i onse|q

V-N-G/2Z-A9D0S52ZS | V-N-G.ZZ-AD0SZS | V-N-5.2Z-AO0SZS | V-N-0S51Z-A9D0S5ZS | V-N-0S1Z-AD0SZS | V-N-051Z-A90SCS | V-N-G/2Z-A90SZS | V-N-051Z-d9D05¢S | V-N-G.2Z-A90SCS | V-N-G.2Z-A90SZS 9¥€01 N3 NIQ 03 Buipioooe [eLajely

paziueajeb-aid aoepng

0°2ISYISY 7 S'LISYISY 7 S°1/92Z/SY 0°2/0v/9€¢ s‘Levise 0°L/SE/SE 7 0‘z/ieise 8'0/02Z/S€ SZ'L8LILE 0°z/9LIze (1€ omoud

(payjo0y) gy wayshs G€ woyshs o
! [ ; ' z ossazems
! ) £4 Em._ I w_v 0 ,_u‘_ m_m E—f—— ¥4 ST~ g T ol _‘a
5 z 5 S : T i e [ \* A "ﬂ T

! 1 s i f=ce Le—=— - £ =t B .

[

- g6 =

paziueajeb dip-joy pue -aid ‘MaIAIDAO |lea 3]1}0id |




X X X X X X X X X 0-659 Z9-Tvd sew Ayenb vy
sytew Aijenb/sjeaosddy

G8'e G6°L 06°L 68°L 161 98°L 96°L G6°L 06°L wo i Eluaul Jo snipey
sz'T [erArd sz'T sz'T [erArd sz'T sz'T sz'T sz'T wo ‘s s0uBjSIp ploJus)
L¥'6L Gz'sL T 1¥'6 vv'L 8S'y v.'6 29, ¥9'G cwo M SIXe-Z SNNPOW UORISS
18'ey Le've L€'ST ze'le v.'9L 0g'0L 06'LT SL'LL 69'CL S il asindw sepnbue [exy
SIXe-ZZ San|eA oljsiiajoeleyd

€5y r9'e 18'2 81T 08'C 99°L 052 €0°C 8G'L wo i elpaul Jo snipey
052 00'9 0s'y 0s'y 0S'y 09'C 6L'¢ 86°C (¥4 wo "s Q0UuB}SIp ploJUSY
0S'2 00'9 0s'y 0s'y 0S'y 09'C LL'e 20'e (%4 wo ) 2ouelsIp ploJjued
oLl 96'61 gezL sz'ob 86°L Si'e vE'6 819 08'c W M sninpow uoyoes
zL'eee 9L'6LL 19'6G €L'oy 16'GE 618 9e'Ge 19'8L 188 ] i asinduwi Jenbue [eixy
SIXe-AA San|eA oljslejoeIeyd

0'gl 0'8l 08l - - - 0'gl o8l 08l ww °p ajoy pajebuoye Isjowelp uoisusixy
12848 0'SY X 0%k 0'SY X 0'7h 0'SY X 0'vL 'S X 0'ph 0'SY X 0'7h 0'SY X 0'vL 'Sy X 0'%h 0'SY X 0'vh ww X ww Ix'p uiBusj x ajoy pajeduole Jejewelq
0'gl 0'8l 08l o'yl 0'vl o'yl 0'gl oglL 0'gl wuw P joy punou Jejewelq
0's0L 0'soL 0's0L 0'soL 0's0L 0'04 0'G04 0's04 0'04 ww I uoisuswIp U9
0ze 0ze 02z 0ze 0ze 02z 0ze 0'ze 0'ze ww ‘q UpIM 10IS
€e'Ll v0'6 S0°L 96'G 65y 66'C 99'G 44 €5'e W v (Ireu a1y0ud B} JO UOROBS SSOIO JSED)) BAIY
- - - - - - - - 0'9 w q Z wibus| Aealleq
0'9 09 09 0'9 09 09 0'9 09 0'¢ w i | yibua) Aianfea
24 €9'8 Ge'9 - - - GL's se'y 1e'e w/By w/o Jojewipyblam
g€z gez [el574 - - - g€z gee [el574 2WW/N i ywif onser3
Hreezs Hreezs yreezs - - - Hreees Hreezs yreezs 2-62004 N3 NIQ 0} Buipioooe [eusje|y
1971 OSI N3 NIQ 03 Buipioode paziueajeb dip-joy adeung

9v'6 4%} 26'S 08y 8L'¢ 69'C 28y 90 962 w/By w/9 Jojew AYBISM
0sz 0sz 0sz 0sz 0sz 0sz 0sz 0sz 0sz 2WW/N i Hwif onser3
V-N-§2¢Z-090SZS | V-N-G/2Z-A90S2S | V-N-G/2Z-0D0SZS | V-N-G.2Z-090SCS | V-N-G.2Z-A90SZS | V-N-G.2Z-AD0SZS | V-N-GL2Z-AD0SZS | V-N-G/2Z-Q9052S | V-N-6.2Z-090SZS 9v€0L N3 NIQ 0} Buipioooe [eusiey

paziueajeb-aid asepng

1

=gy |

a 0°€/0S LISy ao‘c/ozlisy as‘z/o6/sy a 0°z/06/SY 7 as‘1oe/sy 7 as‘iesisy 7 0°€/SLISY 0°€/09/SY S‘2ISYISY |1es ajyoid
(pPauzo0y) gy weyshs tel 3y
i I i i i I i i i ¥i ooz
B € ﬁ Mlmw - 0z —J \_“*'m_ Nm_l_ _H_lf & sz ]
_u. r_ . 5. c 05 € | Y
Ly | u i ® T 1 1 ! A -4 %
ki i Wu_u Fz mv sk —L _l_ B - | ¢ ) = 1 o el bl s
oss 1 1 - 53 - B
08 L 1 ! ! ! ! | I— = 1 €
o1 —— -Gy - -Gy ] z
1
G-

paziueajeb dip-joy pue -aid ‘M3IAIBAO0 |kl 3|1j0id B




